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=] n 5.19 J& I [alcE=SFil 5100m 1s2  10.34 -0.3 5. %5200m X 352 20.99 2.8
<BF100mHIZED2013FEEEmRIE>
(551 K4 A G ) PB-F R BT | s e 8T 63 To77 R e Pl 2l /1028
G B - B4 = [ CLACHk/QB=¥E 1 5 4.19 9ifyb ~UY Ry Y L— H200m 82) 6 21.57 1.8 =] - gk
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J5200m 4rl 21.09 0.5 4.19 7wy b ~ULY Ry Y L— 5 400m 2 46. 95 5.25 RRIE[ERE  BEMCAE 7200m X ) bhl 21.27 2.5
#200m 1h3  20.94 0.3 5.03 4% Jf A FEI B 75400m 7 Irl  46.25 5.26 MEEEE  BERAE %5200m 44)  8sl 21.36 2.0
J200m 3 20.81 -0.5 5.18 4% & HH AR 5400m 2 46. 48
$200m 9) 2s1  20.73 2.0 5.18 4% & HAAFEIEH #400m 2h2  46.90 [628] MR #iA 91. 5. 9 (A R 4 4tifF) PB=46.89  /QB=46.89
3.23 ta-Aby TSR G A 5400m 4 47.77
(R 335%0) PB=20.92  /QB=20.92 [192] %3 —#t 90.10.29 (FE 7 Ve - Hilk) PB=46.25  /QB=46. 25 4.13 HUER HOMER - A R #400m 3 47.67
200m 5 21.58 1.8 4.21 & L HIZERE b 5300m n o1 33.31 5.03 4% e ] [E] B F400m 21) 6r2  47.17
#200m 4s2  21.73 0.5 5.03 4% Jf i e [T B #400m 22) 6r3  47.19 5.18 [H 7 B B400m 2hd  47.85
$200m X 5r2  21.51 2.6 5.11 %ﬁ el AbpEE R 55400m 1 47. 36 5.18 [H 7 PIH A 75400m 4s1  47.61
200m 1 21.54 -3.6 5.12 ¥ 15 Eld = =="dEi| 200m 49) 1 21.41 0.5 5.19 [# 5z BERAE 55400m 5 47.45
%200m 38) 1sl  21.29 0.7
[241] w#F 5L5E  88.12.09 (e sn et - 3%50) PB=45.62  /QB=45. 62 [629] (LG k& 92. 7.30 (A R 18E) PB=46.17  /QB=46. 17
[559] J®H 3 90. 4.19 (7PN M1%%1) PB=20.85  /QB=20.85 5.03 4% Jf i e FET B 5 400m 1) 1r3  45.62 4.13 BUEK MR - AR 5400m 1 46. 25
4.21 ST HULBRFHE 5200m 2s1  21.68 1.0 5.03 &% JE i ][] 55400m 6) 3r2  46.17
5.03 4% Jf ] [ B J5200m 28) 6r3  21.12 0.3 | [253] JmiE EE 93, 1.10 (EEES S14%%1) PB=46.80  /QB=46. 80 5.18 [H 7 PIHCAA 75400m 1h3  47.81
4.29 X 7 FEIL I SR SRER S 5200m Irl  21.26 -0.5 5.18 [H oz BERAE 55400m 1sl  47.00
[618] 7v7 U9y /593, 5.31 (B K 2 JU) PB=20.98  /QB=20.98 5.03 4% Jf A I B #200m 25) 3rl  21.07 -0.5 5.18 [H 7 B 51500m 92) 8hl 3.54.13
4. 13 JUER R B AR 5100m 13) 1 10.48 —0.4 5.17 Jir  FE AR 55400m 1h6  48.04 5.19 [H 7 PR F400m 1 46.31
4.20 S FUTR T 55100m 1h4  10.80 0.3 5.17 ki AU A 5400m 1s3  46.95
5.03 4§ i é%j‘&é@l@/\ HB200m X 12 21.09 2.6 5. 18 Fi E %’gf% g,:;wOm 10) 1 46. 80
5.05 H EBN£iEs 200m Irl  20.98 1.3 5.19 Hi Fl s 200m 2 21.62 -3.6 =] S g
5. S 5100m 3hd  10.71 -1.3 ) < %?800?7’1 &%%0201 3¢$E&%ﬂ>
5. A BHUF J5100m 3 10.57 -1.4 | [268] ok 42 91 ZElEW, 4 =) PB=46.64 /QB=46.64
5. A B/ F5100m 252 10.51 0.6 4.13 HR fm&jm&A@ﬁz@) 5400m Irl  47.09 [#®&%] K4 AEAR (AT - BKEK) PB=FI LAt/ QB= i itk
5. BHUF 5200m 2h2  21.02 0.9 5.03 4% ¢ e FET B 400m 9) 2rl  46.64 AR % [xsEazd FiH 134 AANEN) fis o0k
5. B 5200m 9) 2 20.73 -0.5 5.06 kA B K (531D 5200m 4 2174 2.0 | —— =
5. B4 F200m 3s1 20.79 2.0 5.18 [E 31 B 55400m 252 47.28
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[ 62] & KMt 84. 7.7 (KR - i E)
[63] I FE 86, 7.31 (KR - B E)
5.19 % & T ARG J800m
5.19 % & HA AT F800m
[ 671 )i #fik 86. 5.15 (JArT - T35
4.13 F ;g TR GRS F800m
5.18 4 & I ARG J5400m
5.18 4 & I ARG F400m
5.19 % & HA AT F800m
5.19 % & JH ARFEHE %800m
[ 75] okt HEZ 90, 5.25 (TR, - T35
4. 14 HUEK FUB R 2 (B 2(E) J800m
5.03 % Jk e [ J800m
5.05 A T—NTF T T T ) FK 53800m
5.19 % ¥ HH ARG J5800m
5.19 % ¥ HH AR F800m
[ 90] n% #iL 86. - TH)
4.13 ARKREES Elﬁ:ﬂcEEﬁﬁﬁm&x(éhzzg@) J800m
5.03 4% e e FET B F800m
5.05 ST A—NT LT T T FURL J800m
5.19 % & T ARG J800m
5.19 4 & HA AT F800m
[105] #2J+ —# 90. 8.24 (J-VIC -H30)
4.21 DA FOUETHE J5800m
5.03 4% ] [ %800m
[128] JER  H& 87. 8.29 (S CaFH -+ Hi0)
4.13 BAEREEE BAEKRBES i (5229E)  %800m
5.03 4% I A FET F800m
5.19 4% & %Hz}:%% F800m
[161] WA #~z 83 7.26 il - H0)
4.13 ARRHEE ﬁitﬁwﬁ%ﬁ HA(%m@) J51500m
5.03 4% B[S J800m
5.11 ARKLE f ﬁitﬁwﬁ%ﬁ jiti4x (55230[])  H800m
5.19 4% & %El FHELH F800m
5.19 % & HH AR %800m
[170] i@ EA 87.11.19 (5@ - 50
4.20 Yty b ~Ur Yy s L— H800m
5.04 =) wny) A 7 —EFF E800m
51T A=) Wny)  NART = AR F5800m
[202] ‘i fEfd 88, 9.25 (=74 vr @)
5.03 4% i e 800m
5.12 # & ElaE = dEil H800m
[233] WM 4 84, 1.13 (k=32 B - 525)
5.04 JlE K JER gt 2 (55 2[R]) J800m
5.12 FRJII H SE S 800m
5.19 KiAK KRR RS H2 (F2E)  5800m
[322] FF 90, 5.28 CRagk Lkt - Fnagk)
4014 FOZEHF LR e (L) 800m
5.03 4% i ] [ J800m
5.18 & BV FE F800m
(389] 7k ik 90. 10. 23 (—HER MIZR )
4.21 A FOUETHE J5800m
[403] F2 W 91.10.11 (B K 4 )
4.04 RIEE - KRKPAE F800m
4.04 B KK F800m
5.11 & & BG4 J800m
5.12 & J& BG4 J3800m
5.26 Ik ¥ e BB %800m
[418] ##FT mth 91, 5.21 (B K 44l
5.03 4% ] [ J800m
5.25 REERE  BIRSAE F800m
[420] K E B 94, 7. 5 (B X 1 feJd)
[456] P& #ir 93, 5. 8 (v R 2 EIR)
4.07 KK BISRLNT TR J800m
4.13 BAEREEE BB (229E)  51500m
5.03 4% JF i A [ B F800m
. i 7 H800m
J800m
F800m

PB=1.48.55 /QB=1.48. 55
PB=1.47.96 /QB=1.49.73
53) 5 1.53.11
2h2 1.53.76
PB=1.48.80 /QB=1.51. 04
1rl 1.53.34

5 48. 34

90) 3hl 48.11
34) 3 1.52.22
3hl 1.52.87
PB=1.48.31 /QB=1.48.31
Irl 1.51.89
4)  3r2 1.49.12
8 1.49.69
1 1.50.11
2h1 1.52.50
PB=1.46.71 /QB=1.47. 14
1r15  1.49.77
3) 2r2 1.48.96
6 1.48.98
2 1.50.11
1h2 1.53.19
PB=1.49.10 /QB=1.49. 10
2 1.54. 42
41) Tr2 1.52.54
PB=1.49.56 /QB=1.49. 56
3rl5  1.52.39
15) 4rl 1.51.03
4h1 1.53.96
PB=1.49.58 /QB=1.49. 58
113) 12r14  3.54.75
28) 7Trl 1.51.82
1r13  1.52.26
6 1.53.68
4h2 1.54.04
PB=1.46.16 /QB=1.46. 19
10 1.48.80
5 1.49.75
n 7 1.47.82
PB=1.47.78 /QB=1.48.98
7) 6r2 1.50.17
1 1.54.78
PB=1.49. 22 /QB=1.51. 20
1r5 1.53.98
2 1.52.25
18) 3r4 1.51.20
PB=1.47.66 /QB=1.48.51
51) 2rl 1.52.93
8r2 1.54.25
1rl 1.54.16
PB=1.50. 97 /QB=1.50. 97
125) 3 1.54.85
PB=1.50. 72 /QB=1.50. 72
2 1.54.89
1h1 1.54.41
1h3 1.51.80
9 2 1.50.72
1 1.50. 87
PB=1.49. 33 /QB=1.49. 33
27) 6rl 1.51.71
4h4 1.54.24
PB=1.48.68 /QB=1.48. 68
PB=1.49.78 /QB=1.49.78
2 1.52.21
37) 5rl4  3.50.81
13) 3rl 1.50.94
2h3 1.51.97
3s2 1.53.07
3 1.51.31

[483] fate %+® 90.11. 5 (RBRHR
317 PR BA /R i 2 (H520m))

4.04 RBE - KA

4. 14 AL =HFF fu%’km LFCdR (1)

5.12 & &

5.19 K&K k%k@ﬁﬂﬁ%ﬁﬁ&é(%z@)
[551] dJbi sith 92, 6.29 (iR
4.20 TR UK LR (5 1)
5.03 & A I B

5.19 Hi Fl AR

[672] #2R A8k 91.11.27 €PN

4.13 HAEKEESE BAEKRRESE S (55229
5.12 9 2R
5.19 # F Rl LI T4
[604] FHiZE BFA 91, 7.24 (AfRK
4.13 Eﬁij(fgm Elﬁith.rE%E k2 (H52290H])
5.25 fk BAHU
5.25 i Fﬁi%%
5.26 i BESRAAE
[607] pin  SiE 94 (AR
4.13 ARKHER Elﬁith.rE%E fErk 2y (H52290H])
4.20 FHALS PN
5.03 4% é%ﬁll%%
5.25 i BSR4
5.25 i B4
[617] )il %% 93. 3. 1 (A
4.13 HUfER BUEK - A REHE
5.03 4% JF e FEI B
5.05 [E 7 =T 75T ) R
5.11 HEKME R ok R BRI 2 (452300E)
5. B B
5. BSR4
5. B4
M 94.10. 1 (A
BUMER - AR
TURTHE
i I [ B
%i#é
sl B
5.26 FRUCIEEE  BIACRA:
[634] FZFE HK 94. 1. 6 (fa K
5.03 %% JF e [E] B
5.11 ¥ #8 JUIN AR

5 KB
%5800m
%5800m
7800m

55800m
%3800m

3 [ 1)
%5800m
75800m
%5800m

3 Rl)
%5800m
55800m
7 800m

4 B IR)
7800m
55800m
55800m
7 800m

1 f@fi)
75800m
55800m
55800m
75800m
%5800m

3 RIF)
%5800m
7800m
75800m
%51500m
7800m
75800m
%5800m

1 H010)
%5800m
75800m
75800m
55800m
7800m
7 800m

2 1e)
7800m
55400m

PB=1. 49.

5)

PB=1. 49.

11)

PB=1. 50.

12)

PB=1. 49.

29)

PB=1. 49.

16)

PB=1. 46.

2)
62)

PB=1. 48.

6)

PB=1. 49.

10)
124)

86 /QB=

rl

1r4

99 /QB=

1r3
2rl
1

92 /QB=

2r13
1
1

62 /QB=

2rl4
1h4
2s2
5

81 /QB=

4rlb
1
5rl
3hl
5sl

89 /QB=

1
1r2

62 /QB=

2
1
512
1h1

1s2
2

37 /QB=

1rl
1

<BF1500mH15ED2013F EZ/ME>

© XRGK) PB=H CLALEK/QB=¥ ik iEk
FEH 134 HANARD) Rkt

[F&5] K4 AAEA R G

AR %t BHRA

[ 3] Ak th. 90.11.23 (B A
[ 34] ﬁ HERE 93, 8.21 U —R
4.06 fE A EFAER Y R PR AR 2
4.21 W = ) L—h—=s3L

5.18 4 k& HA AT

5.18 4 & HH AR

5.19 % 1 HA AT

5.19 % k& A ARFEIEH

[ 94] M f:th 88. 9. 6 (=
4.20 M F Y L—h—=/3L

4.21 # H R L—h—= L

5.11 7§ ik T LT U= W KAnD B
5.18 HAARFEIEH

Ak
5.18 4 & HH AR

[108] F&Jk i 87. 4.09

[109] &% 54 86.10.26

4.21 ff = ) L—h—=s3L
[228] ikt

5.11
5.12
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1
1
1.
1.
1
1
1. 49.99
1

1.50.80
1

1.50.92

1
1. 50. 92
1

1

1
1.54.01
1

1

1
1
1.
1.
1
1
1

1

1

1.
3.52.42
1

1

1

1

1

1.
1.50.08
1

1

1

1.49.37
1.50.75
48. 35

wodk

- JLifE) PB=3.48.77 /QB=3.48.77

- Ko
%51500m
7 1500m
5 1500m
%51500m
75800m
7 800m

- T
55 10000m
%51500m
J5000m
7 1500m
%51500m

(JREAA - B0
(JREAA -« B
7

1500m

(b= v 7 - 5)

551500m
%35000m

PB=3.47.74 /QB=3.47.74

3.51.64

10 3.54.95

43) 6 3.51.31
6hl 3.52.01

4 1.52.99

35) 1hl 1.52.27
PB=3. 45. 49 /QB=3. 45. 49
109) 10r2 29.12.35
4 3. 49. 86

115)  9rA 14. 08. 02
12) 4 3.48.33
2hl 3.51.39

PB=3. 46. 03 /QB=3. 46. 03

PB=3.42.71 /QB=3.43.99

25)

5

3.50. 14

PB=3. 49. 98 /QB=3. 55. 00

30)
69)

3r2
4rl

3.50. 45
14.01.98

[232] M FHE, 90.10.09 (b3 X AB)HE - 5%) PB=3.45.41 /QB=3.45.41
4.28 JNESIRIE MR E SRR R E R %35000m 23) 4rB 13.52.35
[262] #uh #5588, 3.10 (NTN + ZE) PB=3.44.47 /QB=3.44.47
5.12 £BJII IE=SFi| %3000mSC  70) 1 9.12.36
5.25 HRUK LR N ks E P E)] %31500m 5) 2r5  3.47.21
[275] K78 %% 84. 8.18 ()1 s « 5UHS) PB=3.43.67 /QB=3.45. 40
4.06 iz A B PR IEEEREA RS 531500m 8 3.53.92
4.21 7 Y L—h—=sL 71500m 7 3.51.77
5.11 79 [ T LT = A XinD_EH H1500m 38) 3 3. 50. 82
[283] 4 e 90. 6.25 (NTTHHAA - KBK) PB=3.44.12 /QB=3.44. 12
4.21 # Y L—h—=sUb H1500m 9 3.52. 64
5.11 75 [ T LT = AR inD A F1500m 71 3.47.78
5.18 J& I icEE==<Fil 5 1500m 2r2  3.51.38
[285] PO~ HE 87. 6.03 (NTTVHA - KBX) PB=3.46.76 /QB=3.46.76
5.19 & I EeEE==Fil J5000m 105)  2rd 14. 06. 49
[286] 4 fekt 90. 4.10 (KB A A + KBK) PB=3.44.57 /QB=3.46. 10
5.18 J& I EeEE==Fil 5 1500m 68) 3r2  3.52.53
[288] [WliFF ERE 89. 7.31 (KB A A + KBK) PB=3.42.58 /QB=3.47.56
5.18 J& I icEE==<Fil 5 1500m 76) 5r2  3.53.05
[309] BkA S 92.10. 7 LI A 7 B4R « SRJE) PB=3.42.79 /QB=3.42.79
4.06 fE A %xﬂlg?ﬁqjﬁwﬁﬁﬁﬁﬁﬂij(A 1500m 2 3.50. 30
4.28 STV N =TT VAL %31500m 1) 2rC  3.42.79
5.18 J& I P PE S M %31500m 1r2  3.50.51
[340] M7 HEZ 83, 5.13 (hEE + JiKy) PB=3.40.36 /QB=3.46.47
[348] [ #¥A  90.12. 14 (RIFRIE « {y) PB=3.49.47 /QB=3.49. 47
[351] ¥ —i% 90.12. 6 (RIFRIE - {#)) PB=3.47.99 /QB=3.47.99
4.14 15 M BB —=,r 51500m 9) 1r3  3.47.99
4.21 76 FIRIE T Lk %55000m 74) 3r4  14.03.13
[416] 0t ASA 91 7. 7 (B K 4°K%y) PB=3.42.37 /QB=3.42.37
2.03 H HAEEAN—T~TF PB5km ;TR ) 204HM 14. 10.

2.03 fL & FAEEN—T TV FB10km/T Fig ) 29+HM  28.54.

2.03 L i HAEE N N—T~F F15km & 15) 29+HM  44. 06.

2.03 H fa HABEEN—T~T J320km & 35) 29+HM 59. 32.
2.03 L L HAEB N N—T~F FBn-797)y  36) 29 1.02. 46.
4.21 fp = S ) L—d— =L H1500m 18) 2 3.49. 09
4.28 JNESIRIE MR E SRR E R %55000m 19) 3Unv  13.50.59
5.11 7§ T— LT = A XinD~ED B5000m 4rA 13.55. 19
5.18 [{ 7 B A H1500m 2 3.50. 01
5.26 MEEEE  BRAE %35000m 4 14. 00. 23
[440] 275 % 94. 7. 3 (BN 1 #1Z5) PB=3.46.19 /QB=3.46.19
3.30 JIE K NEAR Bt 2 (5591E1) %1500m 2r6 3.57.78
3.30 i K NE A 55 25 (59[a]) 55000m ) 3r3  14.48.53
5.18 [€ 7 PI R 5 1500m 39) 3hl 3.51.19
[454] @ikt —1] 94. 6. 14 [€1:PN 1 B57F) PB=3.46.29 /QB=3.46. 29
[455] “FH B 91, 8.23 77PN 4 1 [¥) PB=3.45.26 /QB=3.45.26
3.03 37 I AR N—T =T Br=723)y  224) 15 1.04. 39.
[457) #@ & 92. 6.19 €7 1PN 31L11) PB=3.46.26 /QB=3.46.26
4.07 KHK BN FLR 7 #1500m 4 3.54.27
4.21 4 7 ) L—d— =L $1500m 57) 8 3.52. 24
5.18 [E 1 BERAE %31500m 7h3  3.53.69
[543] =% —#f 93. 5. 9 [CEPN 2 EHR) PB=3.46.50 /QB=3. 46.50
3.03 3. JI| ARBEN=T TV Bn-777)y  243) 82 1. 04. 49.
4.21 4 7 S L—d—= 3L H1500m 20) 3 3.49. 42
4.28 ¥ B RECK = SRR SR 2 (H540[8]) 535000m 121) 7r12  14.08.31
5.18 [H oz BB %51500m 3 3.49.67
5.18 [H 7 PIH A 5 1500m 2h2  3.50.18
5. 26 *ﬁ(ﬁ@l@ BERAE %55000m 16 14. 14. 32
[591] =W MR 93. 6.21 CREER 2 #EM) PB=3.46. 32 /QB=3.46. 32
3.03 32 Il AR EN—T T BA-797)0  218) T4 1.04. 37.
4.14 AEAREEE ARRERBES B (F229E)  %5000m 52) 11r27  13.58.36
4.28 W B RHCK IR 2: (540/E]) 1500m 3) 1r8  3.46.32
5.18 [H oz BARAE %31500m 1 3.49.52
5.18 [H ¢ BB %51500m 1h2  3.54.68
5.26 RRIEERE  BERCAE #5000m 7 14.10. 93
[653] JUAWTHE 93. 3. 4 (RPN 3HiA) PB=3.46.50 /QB=3.47.74
4.07 [# 7 FUUNKF 5L #1500m 1 3.49. 34



5.18 A B %51500m 6) 1h3  3.47.74 4.14 HAEKEESE BAEKRBEEDEES (5229E)  %5000m 47) 9r27  13.57.41 %510000m 46) 20 28.54. 27
4.21 RfEY L—h— =L 510000m 13) 10 28. 28. 40 N 5000m 34) 14 13. 55. 06
5.19 % HH AR %55000m 9rd  14.04.20 . JHFEHE %310000m 12r3  29.16.67
= S g
<%%5000m &%%@2013ﬂiigm$ﬁ> [125] #n #hth 88, 7.02 (m=%3 /b« §50) PB=13.46. 99/QB=13. 46. 99 [383] g8 47k 90. 3.20 [€:X(47 « ETIRF) PB=13.29. 11/QB=13.48. 24
- - o 5.18 4% 2 A AL %10000m  132) 15r2  29.22.59 4.28 JRJESRIE Hm R E R 55000m 11) 10 13.48. 24
[F&5] K4 AAEA R G - BGK) PB=H CAtHk/QB=YE K Lok 5.11 75 % \*—1V7‘/"7 ARin®D~F7>  510000m 49) 7 28. 54. 95
A B 5T TRsEaEd FfEE 134 AANARL) AUkt Goik [164] JbAr  H& 86. 2. 4 (A¥ERMG -+ HA0) PB=13.36. 56/QB=13. 43. 07 5.18 ¥ 45 JUM EEE 5 1500m 1) 1 3.48. 46
777777777777777777777777777777777777777777 2. 11 M ¥ TR — B10v4w 16) 6 48. 08.
4.21 M F Y L—h—=s3L $10000m  100) 31 29.09. 41 [458] #HiL #lck 93. 2.23 77PN 3 EHR) PB=13. 41.60/QB=13. 41. 60
[ 52] E# ¥ 90. 8.02 Honda -H#E) PB=13.46.79/QB=13. 46. 86 5.19 4 A AT #5000m 96) 10r4 14. 05. 36 4.28 r”%r”hﬁ il R B R A T #5000m 15) 2Unv  13.49.18
4.14 BAKEEE BIEKEHES &A(%m@) 5000m 3r26  14.03.39 5.11 75 [ T LTS — AR inD_EH $5000m 9rD  14.02.07
4.21 7§ P& BT ERS F5000m 1rd  14.13.39 [166] #f f§# 86.12. 9 (A5G« B0 PB=13.42. 26/QB=13. 42. 26 5.26 BEIGEES B4 H5000m 12 14.10. 73
5.11 75 & T F = A XinDFEH B5000m 8) IrA  13.46.86 4.06 FE A SIS T RIEBEREAR S 55000m 66) 11r5 14.01. 02
4.21 ¢ = R L—h—=3L 10000m 97) 29 29.08. 17 [469] B # 91 5.23 [CPN 4 J8F) PB=13.31.27/QB=13. 33. 84
[ 53] 7%iF HA 89. 1.09 (Honda +H¥iE) PB=13.41.80/QB=13. 41. 80 4.19 Vit b ~U Yy s L— H5000m 11 13.35.73
4.21 #f F Y L—h—=s3L J10000m 55) 22 28.56. 71 [177] #JE A& 88. 6.16 (7"VXJ_¥ « fh43) PB=13.49. 59/QB=13. 49. 59 4.28 "7 )v b B —VF VAR 510000m 2 27.38. 31
4.28 JRESIRBE R R A R 5000m 72) 16 14.02. 83 2.03 A f SLARE B15km 3 69) 34+HM 44, 55. 5.11 74 [ T LT L= AR inD_EH H5000m 7D 13.43.05
2.03 H f J520km & 45) 34+HM 59. 48. 5.26 MEEEE  BIRAE %35000m 2) 2 13. 34. 30
[ 54] &% K 86. 4.28 (Honda %) PB=13.44. 44/QB=13. 44. 44 2.03 FL fi BA-737)y A7) 34 1.03.01.
2.03 f fa AREPEN—T =TV Bskm A& ) 39+IM 14.14. 3.03 K B20km & 344MR  1.00. 42. [477] (A 5. 91. 6.24 (R K 3%0) PB=13. 42. 17/QB=13. 42. 17
2.03 H fa HBEFEN—T~T H10kmfr Fi ) 39+HM  29.03. 3.03 Kt Bn=7 b2 34+MR 1. 04. 10. 2.03 H fa AR a4 PB5km P& ) 1I4HM 14.09.
2.03 H f HWBEHEN—T TV B15km @& 21) 39+M 44, 09. 3.03 Kt ObiifgR~Z Y v F25km i 24) 34+MR 1. 16.00. 2.03 # & S F10kmT Fik ) 11+HM  28.40.
2.03 f fa AREPEN—T =TV F20km i 49) 39+HM 59. 53. 3.03 K 7 VbR~ 7 Vv %30km & 25) 34+MR  1.31.41. 2.03 H SR ERE PB15km & 4) 1I+HM  43.41.
2.03 L f HWBEHEN—T TV Bn-727)7  64) 39 1. 03. 23. 3.03 Kt ObiifER~7 Y v 335km & 18) 34+MR  1.48.53. 2.03 4 fa HAEEAN—T~TF H20km & 7) 11+HM 59. 00.
4.21 fh 7= R L—h—=3L #10000m  104) 32 29.10. 76 3.03 K ObiifgA~Z Y B~FYr T8 34 2.18.01. 2.03 L HAEEN—T =TV FBn-733)v 8) 11 1.02. 14.
4.06 fiE A BB T RIEBEREA RS 55000m 2r3  14.04.76 3.03 52 JI| ARPEN=T T Br-725) 10 1.03. 12.
[96] &2  AIK 88 1.6 (& tm - F4E) PB=13.43. 66/QB=13. 43. 66 4.21 ff H ) L—d— 5510000m 50) 21 28. 55. 23 4.28 JNESIRIS ik E SRR E R %55000m 126) 7Unv  14.08.77
5.11 7§ [ T LT L= AR InD_EH FI5000m 17) 1rB  13.49.59 5.26 RRIEERE  BERCAE F5000m 11 14.09. 81
[ 971 #FL HEHI 83.12.30 (GGE=t] « F3E) PB=13. 44. 30/QB=13. 44. 30 5.18 % & HH AR 5310000m 11r2  29.05.69
4.21 g F éﬁ%v~ﬁ—:m» ;1500"' ) 6 3.51. 44
5.18 4 & 1500m 2) 2 3.45.57 [231] @tk #h 87. 7.19 k3 Z [@hE - 55%0) PB=13. 34. 38/QB=13. 45. 73 =] S g
5.18 4% HA AT 5 1500m 3h1  3.51.51 4.06 fiE A B @PEEPEE%FE‘?(U(A %51500m 52) 5 3.51.98 < %%1 Oooomﬂjiﬁ%®201 3¢$E&%ﬂ>
5.12 F I F S 3 55000m 151) 6rl  14.11.90
[ 98] &I it 83. 8.03 (DeNA « HU0) PB=13.46. 12/QB=13. 47. 79 [&%] K4 AEAR G - X5Gk) PB=11 CLARgk/QB=YE i bk
4.28 r%ri& il e e [ e F5000m 20) 12 13.50. 78 [237] #@%‘ B 86. 9.27 (b= Zihik - 35n) PB=13.45. 70/QB=13. 45. 70 AR % [ RsEaza FiH 134 AANAND) At FC
5.11 75 (i 75000m 8rA  14.01.19 3.17 5] BAAREEHAN—TT VY Blokm JE ) THM 20220 | m e e
5.18 4 $ 71500m 79 7 3.53.26 3.17 m 5] 7 F16km & 33) T+HM 44,17
317 1 0 Ho0km & 10)  T+HM 59. 05. [ 41] PipAEsz®] 87, 3.20 (SUBARU - #tf5) PB=28. 25. 14/QB=28. 25. 14
[ 991 RWF#—ES 85, 7.29 (DeNA « HU0) PB=13.21.49/QB=13. 38. 21 317 1§ Bn-737)Y 9 7 1.02. 15. 2.10 #E [ FERTE A A~ T Y v Boskm & 79) 8+MR  1.17.55.
2.10 JfF 7 L0~ A L — | 1004 D1 46. 56. 4.21 g = Y Ll —=s 710000m 35) 19 28.47. 63 2.10 #E [ SN PG H A~ 7 B30km & 64) 8+MR  1.33.55.
3.17 b A ES J1okm Sy ) 38+HM  29. 13 2.10 3E i SIEN] 75 A AR~ T Y v J35km i 38) 8HMR  1.50.27.
3.17 1 N 4H HB15km iR 42) 38+HM 44,18 [282] wim  ZRf= 83. 5.08 (NT TP AA - KBK) PB=13.46. 58/QB=13. 46. 58 2.10 %E [ FERTE A A~ T Y v BwFvr 46) 8 2. 14. 46.
317 1 1 4 H J20km & 52) 38+HM  1.00.07.
3.17 1 1 4H Br-7%3)7  135) 38 1. 04. 06. [319] #riR &g 86.10. 11 (Mg ikt - fod) PB=13. 19. 00/QB=13. 28. 70 [ 87] #JE #— 89. 7.13 (GCE=i] - F2£) PB=28.21.58/QB=28. 21. 58
4.06 it A SIEMRE T REEEAKRS $5000m 29) 8r5 13.54. 49 511 ¥4 B T L F U= W RInDREBH F5000m 65) 7TrA  14.00.55 2.17 & i~ Vv Hookm @ 55) 3+30  1.00.09.
4.21 ffH Y L—h—=s3L 10000m 5 28.16. 79 2.17 & g~ 7 v~ J25km & 8) 3+30  1.15.38.
5.11 7§ B& T LT V= AR InDBD F310000m 75 28. 09. 56 [350] Wil %°F 88. 4.18 (REZHIE - {8J5) PB=13.48.98/QB=13. 48. 98 2.17 7 M i~ Vv 5 30km 27) 3 1.31.49.
5.18 % & H1500m 31) 5 3.50. 48 2.03 K 4y BRI ER~ T Y v FBn-737) i#266) 23+MR 1. 04. 55. 4.21 # F Y L—h—=sUL %10000m 69) 25 29.01. 80
5.18 4 & 71500m 5h1  3.51.63 2.03 K 4y BIKRG R~ Z Y > Bo5km & 64) 23+MR 1.17.52.
2.03 K 4 WK~ T Y B30km 1% 86) 23+MR  1.35.03. [ 99] -HPER R 85. 7.29 (DeNA « HUAT) PB=28. 09. 56/QB=28. 09. 56
[114] JHL WP 89. 6.13 RS « H50) PB=13.46. 55/QB=13. 52. 32 2.03 K 43 B R R~ T Y J35km i 69) 23+MR  1.52.49. 2.10 F§ ¥ JFEEL0v A L — K B10vq D1 46. 56.
4.06 & A IR P R IR AR S B1500m 80) 7 3.53.33 2.03 K % BRI ER~ T Y v B=F 2V 109) 23 2.20.27. &17 (I v B10km Fri®& ) 38+HM 29.13.
4.14 Elﬁijt&%u AR BB o (F52201])  735000m 127) 13r26  14.08. 84 4.20 f H ) L—h—= 3L 5510000m 13r2  29.16.55 317 1 1 F15km & 42) 38+HM  44.18.
4.28 [RESIRIE RS RS A E R J5000m 14) 3rB  13.48.98 3.17 1 R %20km & 52) 38+HM  1.00.07.
[116] JHk Kiili 82. 8.02 (IR « }UIT) PB=13. 25. 54/QB=13. 25. 54 5.03 £ W R A 4 — (%10E) 510000m 72) 3 29. 02. 52 .17 [ N1 BHARFEHEMHN—T TV Br-773)7  135) 38 1. 04. 06.
4.13 ARKHEER AR RIS &A(%ﬁg@) 5 1500m 65) 7rl4  3.52.50 5.17 J& W ESLES JFil 10000m 1r2  29.10.75 4.06 A8 A SIMERY T RIEBEEAR S 55000m 29) 8rb  13.54.49
4.19 Awfyb ~U Ry Y L— J5000m 39) 25 13.55. 98 5.19 & I B PE A #5000m 4r4 14. 09. 60 4.21 0 F ) L—h—=L 10000m 5 28.16. 79
5.11 79 ¥ VT = B X in D85 F10000m 7 5 28. 09. 56
[122] #L %% 90. 9.14 (=73 /)« §50) PB=13.45. 08/QB=13. 45. 08 [365] wit Fais 84. 5.10 OUET - f@li) PB=13.39. 76/QB=13. 39. 76 5.18 % & 71500m 31) 5 3.50. 48
2.03 f fi HWBEEN—T T Y B10km/T TR ) 144HM 29.15. 3.30 #o4 JETL T o ARy (RTED - 555000m ord  14.13.09 5.18 % & H1500m 5h1  3.51.63
2.03 L f HAEHEN—T~T Y F15km & 24) 14+HM 44, 14. 4.06 & A SIS T RIEBEEAR S 55000m 5r5  13.50.49
2.03 L f HAEEN—T~T Y F20km & 13) 14+HM 59. 08. 4.21 #p H Y L—h—=3L 5510000m 99) 30 29. 09. 00 [100] @&iE @A 87. 4.13 (DeNA « JU5T) PB=28. 30.51/QB=28. 39. 57
2.03 H fa HBEEN—T~T Br-7v7)y 12) 14 1. 02. 20. 4.28 [REGIRIE RS A E R #5000m 5 7 13.43.97 4.14 BRREEE ARKERBES B G5229E)  %5000m 31) 7r27  13.54.58
4.14 RIRKHEE AIRKR S S (F5220[E)  55000m 10) 4r27  13.48.20 4.20 [# 57 HURTAE %10000m  111) 1 29.13. 98
5.18 A% SR ASEHE J510000m 42) 8r2  28.52.12 [372] A# B 91 1.22 (Z2H TR - FI%) PB=13.40. 62/QB=13. 40. 62 5.11 75 P& T LT L A XIinD_REH FH5000m 6rB  13.55.73
4.21 1 7 ) L—h—= L 10000m 29) 17 28. 43. 08 5.19 4 & HH ARZEE %5000m 11r4  14.06.35
[123] #5#1 B 90. 9.18 (==#H3 /)L - Hux) PB=13.48.54/QB=13. 48. 54 5.11 7§ T—VF = A ZXinDEBH B5000m 63) 6rA 13.59. 92
2.03 . f HAFEPN—T~TF B5km JFd ) 17+HM 14, 10. 5.18 ¥4 JUIN F2 3 %310000m 11r3  29.14.11 [101] E#)I# 88. 6.08 (DeNA « JUiT) PB=27. 50. 64/QB=27. 50. 64
2.03 H f HBEEN—T TV H10kmb Fi& ) 17+HM  28.39. 4.14 BRRMEEE QRKERBESES (B5229E)  %5000m 14r27  14.03.83
2.03 fL fa AREEN—T~ TV F15km R 7) 1T+HM 43,44, [379] K% H#E— 86. 1.27 (BAEAR - EIRF) PB=13. 32. 67/QB=13. 47. 22 4.28 JRESIRIE Ak ML A E R 5000m 28) 13 13.54.23
2.03 f fa ﬂ%lﬂ%/\—7v7// J20km & 16) 17+HM 59.12. 5.03 78 f& i R R 5510000m 53) 2r2  28.56.04
2.03 H f EHEgN—T~F Y Br-797)7  16) 17 1. 02. 26. 511 16 B T L F = W RInDREBH F5000m 122) 13rC  14.08.34 [110] &A% 89. 7.23 (JRIAA - H50) PB=28. 16.92/QB=28. 16. 92
4.14 BAKREES Elﬁichsz%E pitias (F5229[E)  J35000m 13) 5r27  13.48.54 4.21 7 L) L—d—= L 510000m 55) 23 28.56. 71
4.20 4B 7 Y L—d— =L 710000m 45) 9rl  28.53.87 [380] Hir1 Fath 88. 8.14 (MEALR - EIRF) PB=13. 39. 40/QB=13. 39. 40
5.11 75 & T F A= A XinDFEH B5000m 4rB 13.53.67 2.10 i [ WEMAPE A~ 5 Y Bo5km & T1) 12+MR 1.17.54. [111] =/ # 89.10.24 (JRHAA - Hx) PB=28. 15. 02/QB=28. 15. 02
5.19 & A ARFEIEM 535000m 5r4  13.57.31 2.10 4E [ SEFAVE A AR~ Z > $B30km i 53) 124MR  1.33.42. .
2.10 #E [ JE[AVE A A~ Z Y %35km & 35) 12+MR  1.50.03. [115] ﬁﬁ-ﬁﬁi)\ 86. 7.13 (IR « JU5T) PB=27.52. 75/QB=28. 21. 47
[124] %ﬁEEEUcErs 89.12. 14 (=73 /)b« HU50) PB=13.44. 86/QB=13. 44. 86 2.10 % | L PG A A~ T v BTV T16) 12 2.17.59. 4.21 P Y L—h—=sUL 10000m 24) 15 28.42. 14
2.2 P H~ T Vv PB20km/7 Fi133) 21+4MR  1.00. 54. 3.03 [ B~ 7 >~ Bo0km & 1+HM 1. 00. 46. .
2A24 % 5 HU~ T Vv Fr-7 FF# ) 214MR - 1.04.25. 3.03 ¥ [ BT~ Z > H-737 ) 1 1.04.01. [117] HkfE Kl 86. 1.12 (xR « BUH0) PB=28. 29. 76/QB=28. 29. 76
2.24 B x B~ T Vv H25kmf Fi ) 214MR 1.16. 15. 317\ > 7 Flokm Sy ) 18+HM 29,22, 2.03 K 4y BRI ERA~ 7Y H2okm & 244MR 1. 00. 52.
2.24 | X Foi~ 7Y F30kmfr P& ) 214MR - 1.32.05. 317 [ R %15km & 44) 18+HM  44.19. 2.03 K 4y %'Wﬁtﬁ§577 v Br=7%7)v i 244MR  1.04. 18.
2.24 B W~ 7Y H35kmf Fig ) 214MR 1.48.45. 3.17 [ R ARG J520km & 41) 18+HM 59. 42. 2.03 K 4y BRI EA~ 7 Y H25km & 43) 24HMR 1. 16.44.
2.24 H x5 Hi~7 Vv W<V 33) 21 2. 14.09. 317 |1 1 $E$§¥ﬂ/\—777// Bn=737)y 45) 18 1. 02. 59. 2.03 K 4 B RER~Z Y v H30km W 43) 24HMR - 1.33. 14.
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2.03 K 4y WK R~ T Y %35km & 54) 24+MR  1.51.29. 3.17 1 [ B1bkm & 3) I+HM  43.28.
2.03 K 4y EUW‘K“"E?7// B=F vy 124) 24 2.21.08. [234] =JiI  #® 90. 7.02 (h3 % AHE - EH) PB=28. 25. 32/QB=28. 25. 32 3.17 [ A FB20km i 1) 1+HHM 58. 06.
3.17 (A HATE % H15km & 54) 21+HM  44.41. 4.28 JKES IR kR R E %55000m 93) 17 14. 05. 22 3.17 (1 [ SAAREEHAN—T TV BrTeiy D1 1.01. 15.
317 1 @El?k%‘ P20km i 50) 21+HM 59. 55. 5.11 &R RRIESS S| %10000m  116) 7 29.15. 01 4.06 it A S EEpRRY PR IEREEA RS $5000m 12r5  14.04.21
317 [ N A HAREHEE Br-797)7  61) 21 1. 03. 20. 4.20 #p = Y L= —=/3L 510000m 31) 6rl 28.44. 16
4.14 BAEREEE BAEKRBES S (B229E)  555000m 18r27  14.07.68 [235] M4 B 90.10.19 (=& FBhE - 4%0) PB=28. 24. 62/QB=28. 24. 62 5.11 16 B T LT U= AR inDEH H5000m 78) 11rB  14.03.71
4.21 ffF Y L—h—=s3L 510000m 28) 16 28.42. 90 3.17 1 R FEMAN—T~F Y Hlokm & ) LI4HM 0 29. 21 5.18 #irR JUIN S 5310000m Tr3  28.46.34
5.11 15 P& T LTS A R inD$57 B5000m 9) 2rA  13.47.60 3.17 b n FB16km & 33) 11+HM 44,17
5.19 % & JH ARG J5000m 8r4  14.02.26 317 [ R J520km & 22) 11+HM 59.17. [413] #MH A 91.12.12 (B K 44 4F) PB=28.07.01/QB=28. 07. 01
317 [ R %H$%%I/\~777// Br=777)  22) 11 1. 02. 32. 3.03 K ¥ Vb H~Z Y v J520km & 88) 28+MR  1.00.39.
[118] #5 HECL 89.12.20 (xR - HUIT) PB=28. 46. 78/QB=28. 46. 78 4.14 RRRIES A ARKER RIS (5229)  %35000m 124) 20r27  14.08.47 3.03 K ChiliEA~ 7> / Fn-7 #136) 28R 1.04.07.
4.14 BAEREEE BAEKREBES S (F229E)  555000m 2r26  14.02. 31 4.21 0 H Y L—h—=s3L 5310000m 17) 14 28. 36. 92 3.03 K ¥ ViR~ J325km & 10) 28+MR 1. 15.53.
4.20 ST HUL R H10000m  114) 2 29. 14. 56 5.11 BRI S 5310000m 6 28. 46. 40 3.03 K ¥ Ub(aﬂﬂacav7// J330km & 10) 28+MR  1.31.38.
5.11 15 P& T LT — AR InD B B5000m 40) 7rB 13.56.59 3.03 K WhilimA~T Y~ HB35km & 12) 28+MR  1.48.07.
5.19 % & TRH ARG J5000m 6r4  13.58.12 [236] ‘&= T 91, 8.28 ('~ =& FBhEE - 40) PB=27.41. 57/QB=27. 41. 57 3.03 K ¥ Vb H~Z Y~ W=7V 52 28 2.15.48.
2.17 & AR fEH30kmm — K J515km T ) 3+30  44.46. 5.11 16 [ T LT U= AR InDRE7 510000m 8 28. 55. 65
[119] #Zm %017 84, 7.08 (xR - HU3T) PB=28.21.85/QB=28. 40. 12 2.17 RE A AEFA 30kmm — R FB20km i 42)  3+30 59. 43. 5.19 [H 7 B #10000m 37) 2 28.48.77
2.03 H f AREBEN—T TV Pokm Jy i) 19+HM 14.13. 2.17 R& AR AEH30kmm — K J525km & 3) 3+30 1. 14.36.
2.03 H f HBEHEN—T TV B10kmb Fi ) 19+HM  28.54. 2.17 & AR fEH 30km — K 5530km 3) 3 1.29. 51. [414] & FHE 92, 9.16 (B K 3 =) PB=28.05.79/QB=28. 05. 79
2.03 HL A HAEREN N—T =TV P 15km i 10) 19+HM  43.53. 4.06 it A ST T RIEBEREAR S 55000m 1015 14. 00. 04 3.03 52 JI| AR EN—T =TV Br=723)7 31 1 1.02. 41.
2.03 H fa WBEEN—T TV J20km & 17) 19+HM 59.13. 4.28 /Ra TV b B —UF AR 5310000m 16) 17 28.33.23 4.21 # i) L—h ==L %10000m 13 28. 35. 28
2.03 H f WBEHEN—T~T Y BEr-727)7  19) 19 1. 02. 28. 5.12 BRI RRIESS S| %35000m 22) 3rl 13.51.97 5.11 1§ [ T LT = AR inDEH H10000m 6) 4 28.05. 79
3.03 Kt Obiife A~ 7 Y v B20km & 23+MR 1. 00. 40. 5.19 [ 7 BAMEA 510000m 1 28.39. 52
3.03 K 7 CbififgA~7 v Fn=7 pes 23+MR 1.04.08. [237] #Exs UK 86. 9.27 (3 Z#5k - %%0) PB=28.19.22/QB=28. 19. 22
3.03 Kt bR ~Z v v J25km i 31) 23+MR 1. 16.07. 317 1 1 BHARFEEM N N—T~F Y Blokm Jri& ) THM 2922 [415] #ib Jck 93, 2.23 (B K 3 EhR) PB=28. 14. 27/QB=28. 14. 27
3.03 Kt bR~ 7 Y v J30km i 35) 23+MR  1.32.34. 317 1 n BAARREEMAN—T~TF VY Bibkm & 33) THM 44,17, 2.03 fL & HAEEN—T TV F5km ST R ) 4+HM 1411
3.03 Kt U‘Ebfﬁ%l577// J35km i 24) 23+MR  1.49.22. 317 [ R AR ARG N—Tw T Yy Fookm i 10)  THIM 59. 05. 2.03 A B HABEFEN—T~T B10kmfr Fi& ) A+HM 28,34,
3.03 Kt Obiififs H v BwFVr  39) 23 2.14.23. 317 [ R SHAEEMAN—T~F Y P77y 9 7 1. 02. 15. 2.03 4 fa HABEEN—T~T %H15km & 1) A+HM 43.08.
4.14 BAREES ElﬁijthwE%E jitiax (F5229[E)  535000m 14126 14.10.71 4.21 7 I L=l —=3L1 %10000m 35) 19 28.47. 63 2.03 fL & FAEEN—T TV B20km & 2)  4+HM 58. 10.
4.20 ST HRURTFAHE 510000m 3 29.16. 44 2.03 H fa HABEFEN—T~T Bn-725) 3) 4 1.01. 19.
5.11 75 B T LT = AR inDREBH H5000m 107) 14rB 14.06. 61 [319] #rR f#gr 86.10. 11 (HEgE ikt - Fo) PB=27.45. 59/QB=28. 15. 79 3.17 2a-3-) Za—FA—I T 4N Br=737) 10 1. 02. 02.
5.18 4 & HHARGEHEH] 510000m 79) 10r2  29.05.03 5.11 78 [ T LT U= AR inD B B5000m 65) 7rA  14.00.55 4.20 #p = ) L—d— =L #10000m 8) 1rl  28.18.11
5.11 79 [ T L F = AR inDREH H10000m 6 28.21. 53
[121] =% 3" 87. 4.27 (=73 /v« H50) PB=27.40. 69/QB=27.52. 79 [335] MI3F #Z 84. 7.10 (v & « JiJ&5) PB=28. 25. 55/QB=28. 25. 55 5.26 RRIEERE  BEHCAE F5000m 147) 8 14.11.79
2.03 HL A HAFEEN—T~T PBskm TP ) SHIM 14.10. 2.10 F§ JEHELO~ A Lu— R B10vAW 2) 3 47. 25,
2.03 H f HWBEHEN—T TV FB10kmji T ) 3+HM 28.34. 317 N BHAFEEMRN—T~F Y B10km JTE ) 10+M  29.21. [469] ki  # 91 5.23 (R K 4 F:¥F) PB=27.38.31/QB=27. 38. 31
2.03 HL A HAEREN N—T =TV FB15km & 1) 3+HM  43.08. 3.17 b n BAREEHA N N—T=F YV Bibkm @& 33) 10+HM 44,17, 4.19 Vivyh ~Uv by s L— 5000m 11 13.35.73
2.03 fL fa AAEBEN—T =TV F2o0km & 2)  3+HM 58. 10. 317 [ A 5 FB20km i 17) 10+HM 59. 13. 4.28 Sa TV b A= VTR 510000m D 2 27.38. 31
2.03 H HBEHEN—T~ TV Br-7%5) 2) 3 1.01. 16. 3.17 1 1 BaA-795)  18) 10 1.02. 27. 5.11 79 [ T L F U= AR inD A $5000m 7rD  13.43.05
4.06 A& A SIEMEE T REBEEARS 55000m 615 13.50. 67 4.21 #p 7 75 10000m 12) 9 28. 25. 55 5.26 RRIEERE  BEMCAE F5000m 2) 2 13.34. 30
4.19 2= Fr=Er)L— F5000m 1 13.56. 95 5.12 L L ES 55000m 30) 2r4  13.54.56
4.28 STV N =TT R 510000m 5) 12 27.55. 27 5.18 L L BHESESS 35| %310000m 2r3  28.43.52 [478] A {&F. 91. 5.24 (R K 3%%N) PB=28. 14. 49/QB=28. 14. 49
5.19 % & A AT F5000m 16) 4r4  13.49.21 2.03 fL HAEPEN—T TV H5km JT & ) 114 14.09.
[338] Al Hifk 87.10.29 (FPEE « JKJy) PB=28.09. 49/QB=28. 09. 49 2.03 # & FABEEN—T TV F10km/T ik ) 11+HM  28.40.
[124] B RCRE 89,12, 14 (=73 /v - Hx) PB=28.28.40/QB=28. 28. 40 3.17 1 R BAREEMAN—T~7 Y Hl0km g ) 444N 29.24. 2.03 H fa HABEEN—T~T %H15km & 4) LI+HM 43,41,
2.24 5T R~ T Y Fo0kmf Fi&133) 214MR 1. 00. 54. 317 1k 1 F16km & 70) 44+HM 44, 56. 2.03 L L HAEE N N—T~F FB20km i 7) 11+HM 59. 00.
2.24 B 5 H~7 Y Br-7 F#E ) 21+MR - 1.04. 25. 317 W [ F20km  #125) 44+HM  1.00.51. 2.03 F HAFEEAN—T =T BN=737)y 8) 11 1.02. 14.
2.24 B 5 B~ T Vv PB25km/T i) 214MR - 1.16.15. 3.17 1 1 BA-795)  193) 44 1. 04. 26. 3.03 57 JI ARZE =TT BA-7%5) 10 1.03.12.
2.24 B 5 Fi~T Y F30kmfr P& ) 214MR - 1.32.05. 4.21 #p = LR 75 10000m 57) 24 28. 56. 90 4.28 JRESIRIE Mk E RIS A E B #5000m 126) 7TUnv  14.08.77
2.24 % ,-a %5-\77 // F35kmb Tk ) 214MR 1.48.45. 498 JEBIERE  MkmEEE A EI% #5000m 48) 15 13.57.83 5.26 RRIEERE  BEMCAE F5000m 11 14.09. 81
2.24 BwFvr 33 21 2.14. 09. 5.11 79 % T LT = A XinDEBH H10000m 10 29. 27. 62
4.14 Elﬁij({i%,u Hfzxjcfuﬁgg jitias (F5229[E)  J35000m 47)  9r27  13.57.41 [600] @ Rk 91.12.18 CRPER 4 KiE) PB=27.51.54/QB=27. 51. 54
4.21 4 LY L—H—=,3L 710000m 13) 10 28. 28. 40 [339] A @ 84. 5.26 GilEsE= « Ji k) PB=28.05. 84/QB=28. 11. 22 2.17 & A RE A 30kmm — F15km A& ) 4430 44.46.
5.19 ?E $ SRS J5000m 9r4  14.04.20 4.06 fiE A BEMRSCPRIEEEEA RS 555000m Tr4  13.52.77 2.17 fiE A REH 30kmm — R Hookm & 42) 4430 59. 43,
4.21 #p = L) L—h—=/L 10000m 10) 7 28.24.26 2.17 f& A RE A 30kmm — J25km i 3) 4+30  1.14.36.
[126] A% BEAT 80. 2.21 (== /v« H50) PB=27.41.75/QB=28. 26. 27 4.28 [REGIRIE RIS A E R #5000m 6) 8 13. 44. 56 2,17 fiE A RE A 30kmm — K 5 30km 4) 4 1.29. 55.
2.24 B x W~ 7Y J520km)1 Fi#133)  9+MR  1.00. 54. 5.12 i & EEENN—T~T Y Wr=777)s  64) 6 1. 03.23. 4.06 g A %%M@VﬂJEﬂﬁﬁﬁba:kA 55000m 9r5  13.54.74
2.24 T i~ Y BT FF# ) 9MR 1.04.24. 4.21 7 L) L—h—=r 510000m 6 28.23. 95
2.24 I W~ T Yy Foskmbr P& ) 9MR 1.16. 14 [352] #2f fhik2 86. 1.14 (REEREE - i) PB=27.59. 78/QB=27. 59. 78 4.28 ¥ B AR B 2 ( %40@) 55000m 1r10  14.10.53
2.24 B x W~ 7Y B30km)t Tt ) 9MR  1.31.23. 4.28 ¥ B RAHCK IR BRBfEBEH 2 (H540[8]) %55000m 25) 1rl2  13.53.44
2.24 I H~T Yy B35kmA Tk ) 9+MR 1.46. 45. [361] A3 TEA 84 4. 2 (M3 ZJUN - 4@) PB=28.18. 15/QB=28. 28. 48 5.11 75 % T LT = A XinDREH F10000m 3) 1 27.51. 54
2.24 T H~ T Y B=Zvr 1) 9 2.09. 14. 2.24 W I R~ I Y F20kmi Fi&133) 11+MR 1. 00. 54. 5.19 [€ 7 B #10000m 5 28. 40. 44
4.28 JRJSINER ik R AR R J5000m 7 9 13.46. 14 2.24 B H B~ 7V Br-7 A F#® ) 1R 1.04.24.
5.18 4 & A AT 510000m 23) 6r2  28.41.99 2.24 T HH~ IV Boskmi i ) 11+MR 1. 16. 14. [601] % 1%k 91.12.18 (HPER 4 B5F) PB=27. 54. 82/QB=27. 54. 82
2.24 WX Hoi~v 7V F30kmfr i) 11+MR - 1.31.24. 4.06 fE A IR R IR A KRS J25000m 37) 8r4  13.55.58
[165] fijif f&ik  86.11.26 (A7EARMG - Hx) PB=27.38.25/QB=27. 39. 50 2.24 B 5 W~ 7 Y B35kmf T ) 1IAMR - 1.47.02. 4.20 # ) L—h—=L %510000m 4rl 28.35. 76
2.24 J A F~T Vv Fo0kmA Fi&129) 31+4MR  1.00. 53. 2.24 W I R~ F Yy B=FVr  10) 11 2.10. 29. 4.28 ¥ B UK B BB 2 (440[]) 55000m 2r10  14.10.72
2.24 B~ 7V Br=7 FFi& ) 3I4MR 1.04.24. 4.21 pf F Y L—h—=s3L 5310000m 14) 11 28. 28. 48 4.28 ¥ B RAHCK R SRR R 2 (H540[8]) %35000m 2r12  13.56. 52
2.24 B x B~ 7V J25km)i T ) 31+MR  1.16.14. 5.03 Ok @l R FHE 551500m 61) 4 3.52.36 5.11 1§ B T LT U= AR InDRE7 5510000m 4) 3 27.54. 82
2.24 B 5T W=7/ B30kmhr Fi& ) 31+MR - 1.31.24. 5.11 V6 B LT U= A RinD_EH F5000m 21) 2rB 13.51. 14 5.19 [ 7 BAMEA #10000m 3 28.31. 14
2.24 B W~ 7Y H35kmf Fid ) 3I+MR  1.47.09. 5.18 #irH JUMIZEZERA 5310000m 5r3  28.45.24
2.24 B x W~ T Vv B~wFvr 61 31 2.16.31. [606] Hﬁﬁﬁ FIA 91.10. 28 (AR 48 E) PB=28.22.79/QB=28. 22. 79
4.06 fiE A SIEMERE T REBEEARS F1500m 3 3.50.52 [378] Kpd h 87. 3.28 [QlEX{52 « HIEF) PB=27. 50. 72/QB=28. 10. 81 4.06 g A S TR PR IR AR %5000m 6r4 13.50. 70
4.19 Awfy b ~U Ry Y L— J5000m 1) 4 13. 30. 57 4.28 IKES NI fkE R RS E 535000m 12) 11 13.48.45 4.20 ﬁa Il ) L—h—=L 5310000m 9) 3rl 28.22.79
4.28 STV N B — DT ARG 510000m 2) 3 27.39. 50 5.11 16 [ VT = AR inDRE) 5510000m 98) 9 29. 08. 99 4.28 JNESIRIS HRE SRR E R %55000m 3) 1Unv  13.37.64
5.18 4% & A ARGEHEH] 71500m 4) 3 3.46.73 5.19 ¥4 JUINFEEEH 5000m 1 14.04.76 5.19 [H 7 PABUAA 510000m 4 28. 36. 03
5.18 4 & HH ARG %51500m 4hl  3.51.52 5.26 RRUCEEE  BIHCAAE %35000m 4 13.50. 01
[381] wRHEE =ith 87.11.10 (EAERk « 'EIF) PB=27.56. 29/QB=28. 06. 28
[220] ki W5 88, 5.19 (b3 % AB)HE - 5 %) PB=28. 24. 45/QB=28. 24. 45 [ ]
3.17 (1 A BAREEAN—T~ TV %mkm Frig ) 4+ 29.21. 382 mu X 90. 7.01 (EAERk - 'EIF) PB=28.27.63/QB=28. 44. 16 =] - g
3.17 1 N N—T7~F Yy Blskm @ 31) 4+M 44, 16. 2.1 S AEH 30km i — R P 15km 7k 2430 44.46. < %?1 10m H Hjiﬁ%O)Z(H 3ﬂ£3:_§mz%ﬂ>
3.17 (b 1 =TT Yy F20km & 8)  4+HM 59. 02. 2. 17 HE ES fEA30kn — | B20km & 2+30 59. 43.
317 [ 1 3 =TTy BTy 6) 4 1. 02. 06. 2.17 R& AR fEH30km — K H25km & 1) 2+30 1. 14.32. [F5] K4 BRI A Gy - BE%) PB=H Ck/QB=E A& Gl ok
4.21 ff F U L—Hh—=s3L 510000m 1) 8 28.24.54 2.17 & AR fEH30km — K 5530km 2) 2 1.29. 34. AB B ks E=Z 4 FEH 134EHANAND) plf  Aod
5.11 K RJI ; $10000m 3 28. 40. 49 317 [ A BAAREEHN—TT VY Blokm JFE ) IHHM 2845, | e e
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4.28 [R5 RIS wﬁkﬂﬂé?—ﬁ& AR 5 110mH 6h1 14.02 1.5 4.06 H@l K JUINEA R % (R 11E) % 110mH 1rl 14.60 0.1
[ 20] #gith iR 84. 5.26 (R B L) - 1 5) PB=14.01  /QB=14.06 E;IW 5 110mH 12) 2rB 13.99 0.5 4.20 T % AbHEE A B 2 (5 1K) Fliomd X 1 14.67 2.2
3.17 /1l j P 110mH 1 14.46 0.8 5 110mH 2 14.19 0.5 5.04 K KEREF H110mH X ) 6h3  14.24 2.3
4.27 FHE 2 B 110mH 1r3 1443 1.1 B 110mH 1h3  14.46 -2.4 5.04 &K VI SREiEE 5 110mH 40) 6rB  14.29 -0.2
5.12 fFRT ﬁ%%mtﬂﬁl:ﬁ%ﬁé 3 110mH 1 14.53 0.4 5.18 [ 1L AbifgiE 5 110mH 1 14.33 -1.1
5.25 f@EK iR T C il (5 30ED) P 110mH 51) 1 14.38 0.0 | [244] dJI#KEE 85. 6. 3 N7 VA« %) PB=13.71  /QB=13.71 5.18 [ 1l p St Reoecd % 110mH 1hl 14.55 2.6
3.14 Y RF=— F—RAFT7UTERPH BiiomH X 4 14.07 2.2
[391 Bk He 86 3.21 (G ARKE ) < H5A) PB=13.77  /QB=13.92 3.14 vV R=—  F—RA 7 UTEFH 5 110mH 1h2  14.00 1.0 | [646] &R Ht 91. 7. 2 (2PN 44h%%) PB=13.69  /QB=13.72
4.13 FHE N e P 110mH 1 14.21 0.4 5.04 &K VSREECS] BllomH X 1h3  13.89 2.3 4.07 EH 1 FUN KRR % 110mH 1 13.96 -1.5
4.13 FHE Wik R&EFR P 110mH 1hl 14.46 -1.8 5.04 K VSREEERT 5 110mH 5rA  14.15 -1.3 4.07 H 1 FULAN K FRAL % 110mH 1h2 14.46 1.8
4.28 JRESIRIE Rk 5 110mH 15) 7hl 14.07 1.5 5.12 R R ] 5 110mH 5 1 13.82 0.5 4.13 8 & S BERR L KRR F110mH 1 14.10 -1.6
4.28 JRIEGINSER ik P 110mH 3rB 14.11 0.5 4.13 i 7 SHBEM L KRR Bliomd X 1hl 13.96 3.2
5.18 4 & HHARGE P 110mH 3 14.19 -1.9 | [324] o= @k 90.10. 4 CRnsf i Lifits - Fnak) PB=13.71  /QB=13.71 4,98 JRBLE kM A B 110mH 4h1 13.85 1.5
5.18 4% HHARZE B 110mH 3h1 14.37 -2.3 4.14 REFTF O Ak L IRGLERS (GB1E]) 5 110mH Irl 14.22 1.5 4.28 JRESIRIE Mk R A E R 5 110mH 4rA 13.86 0.7
4.28 JRES I kTR S E BllomH X 6h3  14.26 2.4 5.04 K KEREF 5 110mH 1hl 13.74 2.0
[ 59] ki #i- 83. 9.05 (TR - ¥iE) PB=13.55 /QB=13.88 5.04 K VSREECET 5 110mH 23) 2h2  14.14 0.6 5.04 K 7 KEHEE 5 110mH IrA  13.97 -1.3
.14 F R B R R BiiomH X 1 14.06 2.5 5.04 Kk & VSREEG 110mH 8rA 14.68 -1.3 5.18 [H 7 PAMEA B 110mH 1h2 14.07 -2.5
4.28 JRIIRER ik s P 110mH 3h2 14.06 0.4 5.19 J& I [apcE=SFil B 110mH 2 14. 46 0.8 5.18 [H oz BERAE % 110mH 1s2 14.06 2.4
4.28 JRISIRIER ik E P 110mH 10) 1rB 13.94 0.5 5.19 [# Sz BAMEA % 110mH 2) 1 13.72 0.4
5.04 /K 7 VSREEEE F1lomH X 3h3  14.06 2.3 | [327] PEIR EfE 87. 7. (BHUR%ZE - 500 PB=13.80  /QB=13.81
5.04 /&K VSREELR] 25 110mH 3rA 14.11 -1.3 4.13 [@ 1l fif] (11 S5 ﬁA(%IIE!) 25 110mH 1r2  14.11 0.0 | [651] fxA ¥ 91. 8.21 | K 4 fEA) PB=14.08 /QB=14.08
5.18 4 & T ARGES P 110mH 4 14.22 1.9 4.28 JKES RIS R E TR E 5 110mH 4)  3hl 13.81 1.5 4.07 EH 1 FUL N KRR %5 110mH 3 14.38 -1.5
5.18 4% HA AT B 110mH 1h2 14.27 -2.1 4.28 [REGIREE RS A E R 5 110mH 3h1 13.81 1.5 4.07 [§ 7 HUS KRR F110mH 1h1 14.69 —2.6
4.20 [H % prs B 110mH 1 14.20 -0.5
[ 71] JIIN K 89. 8.19 (F—L7 A~ - TH) PB=13.81  /QB=13.89 [346] &HA 1&A 84. 7.11 (ME SSTA -{#ij) PB=13.66 /QB=13.80 4.20 EH 1 5 110mH 2h1 14.59 0.0
4.20 VA FOUETHE 5 110mH 1hl 14.22 0.0 4.28 [RESINHE  RRMERERL A E R FiiomH X ) 4h3 14.15 2.4 4.20 [H 7 FOURTHE F110mH 2s1 14.27 0.8
4.20 ST HRURTFAHE P 110mH 21) 1s2 14.12 1.0 5.03 1% [ TR 3R A 5 110mH 38) 1 14.27 0.1 5.04 15 K R (F530E]) % 110mH 18) 1 14.08 1.6
4.28 JRIIRER ik BiiomH X 5h3 14.20 2.4 5.03 1% 1 TS WL A HilomH X 1hl 14.35 2.6 5.04 {5 K ER B (F530E) 5 110mH 1B 14.21 0.9
4.28 JRESIREE fRmE 5 110mH 5rB 14.23 0.5 5.19 & I [elEE=5il 5 110mH 1 14.42 0.8 5.18 [H 7 PB4 5 110mH 3h2 14.42 2.5
5.18 4 & HASE P 110mH 5 14.44 1.9 5.18 [H 7 BERAE % 110mH 2s1 14.33 -3.5
5.18 4% & HH AR J110mH 2h2 14.75 -2. 1 [362] %oc kit 84, 3.13 (4 [ B - 4@¥) PB=13.77  /QB=13.91 5.19 [# oz BRRAE % 110mH 5 14.09 0.4
414 WZ oA @R B AGES (207K B110mH 2 14.47 -2.3
[ 95] mureh i 78. 9.23 e - FH) PB=13.55 /QB=13.73 4.28 [KES IR kTR S E B 110mH 44) 5h2  14.32 0.4 | [652] @il wkEF 94, 9. 3 [CiPN 1JK/%) PB=14.10  /QB=14. 10
5.18 o4 JUIN FEHEH BriomH X ) 1 14.11 3.3 4.28 JRESIRIE Mk E R A E B F110mH 42)  8hl 14.30 1.5
89. 4.19 (J +VIC 350 PB=13.90 /QB=13.90 5.18 [H 7 B H110mH 6h3  14.73 -0.3
IJDTA—T = 7T =A% P 110mH Irl 14.33 1.7 | [423] (M BARC 91. 8. 1 (ER K 4 ¥#) PB=14.01  /QB=14.01
HOUETHE B 110mH 2 14.22 0.5 4.06 [EEK ERKRBE S 5 110mH 1rl 14.64 3.5 | [654] =W #%°F 91. 8.16 (\*/ﬁjc 4 °KB) PB=13.83  /QB=13.83
FOUETHE 5 110mH 1h2  14.44 0.0 4.06 [EE K ERKBE S 5 110mH 1B 14.70 -3.0 3.17 ¥ /i R TR (BB TIE] 5 110mH Ir 14.50 -1.7
53 P 110mH 1sl 14.23 0.8 4.13 fiE & S BER-L RS 5 110mH 3 14.50 -1.6 4.06 R ﬂ&ﬁnaﬁﬂﬁs@ e —M%) % 110mH 1rl 14.43 0.5
F1lomH X ) 2h3 14.03 2.4 4.13 fE & S BERR LR Hliomd X 2h1 14.24 3.2 4.12 V550 SRR F110mH 1 14.39 2.0
[E R P 110mH rA 14.13 0.7 4.28 JREGINHE Rk A E R Hliomd X 3h3 14.15 2.4 4.28 JE IR %‘a’zﬂiﬁ?*ﬁ# FLARE R FliomH X ) 1h3 13.77 2.4
K BiiomH X 4h3 14.14 2.3 4.28 KRS IR kR RS E B 110mH 6rB  14.26 0.5 4.28 JRESIEIS ik G A E B 110mH 8) 5rA 13.92 0.7
VSREiEE P 110mH 15) 1rB  14.07 0.2 5.18 [H 7 BIHU A 5 110mH 2h4 14.27 1.7 5.10 & J&# PP A 5 110mH 1 13.92 0.0
5.18 [{ 7 BSR4 B 110mH 4s1 14.44 -3.5 5.10 & Ji B2 H110mH 1h1 14.05 0.0
[132] REBAMER 89. 7.08 (==2—%F— K-« #50) PB=13.92 /QB=13.92 5.19 [H 7 BHUEA B 110mH 14) 4 14.06 0.4
3.25 tjc# tt%ﬁ&%(%ﬁg%) 5 110mH Ird  14.35 0.1 (195] " " -
4.28 A= EES:Cribive 3 110mH 20)  DEC 14.11 1.5 425] H9¥F oKk 93, 5.24 (EE 2 JtiE) PB=13.88  /QB=13.88 =] S g
4.28 ALEIESE AAESFIAK LIRS A 13) 10 7039 4.28 KRS IRI ik E TR E 5 110mH 6) 5hl 13.88 1.5 < %?400?7’1 H &%%0201 3¢$§EZ%E>
5.18 4% & HA AT 5 110mH 7 14.50 -1.9 4.28 JK kK3 %&Eﬁ’%ﬁha‘\lﬁl% 5 110mH B 14.29 0.5
5.18 4% & HA AT B 110mH 2h3  14.27 0.4 5.18 [{ 7 B SR B 110mH 1hl  14.34 -0.1 | [&H] K4 AAEA A (FT s - B4%) PB=H Candk/QB=E K Rl sk
6.0l & % F AR FHER A 400m 75)  DEC  48.00 5.18 [H 7 Fﬁi%& B 110mH 3sl  14.38 -3.5 AR % [ RsEaza FiH 134 AANARD) At ok
6.02 £ % A AR FHER L 5 110mH DEC  14.21 0.7 5.19 [€ 7 B 5 110mH 3 1401 0.4 | ===
6.02 & % HAIE FAER K B 15 6874 - )
[476] )1 Z%F 91.11. 20 [CPS 45%F) PB=13.85  /QB=13.85 [ 55] il #d7 87.10.29 (7 L—=~— «BiE) PB=49.87 /QB=50.19
(144] A\ %Wl 80.11.04 (B> 7 u—¥ « J50) PB=13.58 /QB=13.72 4.07 [E % FUTANRFRL 5 110mH 2 14.28 -1.5 3.30 JIF NEA I He 2 (B591E]) 5400mH 13 53.29
4.28 JE IR ﬁ 55 110mH 3)  2hl 13.77 1.5 4.07 [H 7 HUTARFRL 5 110mH 2h1 14.85 2.6 4.13 & A SEBER L RAE R F400mH U 20P  51.80
4.28 JR RIS B 110mH 3rA 13.80 0.7 4.20 ViwFyb ~Uy Ry 7Y L— BiiomH X 4 13.96 3.3 5.03 4% Jf ] [EI B J400mH 21) 5r2  50.97
5.05 N7 B 110mH 4 13.85 -1.4 4.28 RS IRHE  fR RS A E R 5 110mH 4h2 14.14 0.4 5.19 4% & A ARG 55400mH 5 52. 20
5.18 4 3 110mH 1 14.11 -1.9 4.28 [RESIRHE  fR IR A E R 5 110mH 4B 14.11 0.5 5.19 4 HA AREE 5 400mH 3h2  52.33
5.18 4% & P 110mH 1hl 14.12 2.3 5.04 K VSREECET B 110mH 2h1 13.99 2.0
5.04 &k 7 IR F110mH 7rA 14.56 -1.3 | [ 73] WA 2 85.12.20 (F—LT A~ « TH) PB=49.48  /QB=49.48
[167] fEfiE K& 90. 8. 6 (A NZAERL « }UUT) PB=13.62  /QB=13.62 5.18 [H 7 BRI 5 110mH 1h3 14.03 0.3 3.17 # K SR (1708 5 400mH 1r3  51.13
4.13 ¢ &5 Gk BiiomH X Irl 14.08 2.3 5.18 [E 1 BAHAAAE B 110mH 1sl 14.28 -3.5 5.03 4% Jf ] [EI B J400mH 2) 3r3  49.48
4.28 JRESIRI B 110mH 7) 2h2  13.90 0.4 5.19 [H 7 B SRA H110mH 8) 2 13.92 0.4 5.19 %% & BUAAREERA 5400mH 1 49.75
4. 28 JE IRk 3 110mH 6rA  13.99 0.7 5.19 4 HA AREE 5 400mH 1h1 51. 50
5.05 ST \~/1/7‘/77/7°)ﬁ,5< B 110mH 7 14.02 -1.4 | [499] K& FHht 90. 7.25 (LR MIZK5%) PB=13.54  /QB=13.54
5.18 4% 3 110mH 2 14.13 1.9 4.13 B KR FURRBER 22 (F520E) P 110mH 2r1 14.10 1.6 | [ 80] 4B HEK 87.11. 6 (B Fskm % - TH) PB=49.27  /QB=49.42
5.18 4 & P 110mH 1h3 14.24 0.4 4.13 Bk iﬁf&kw&%(éﬁzﬁ) 5 110mH 1rBl  14.06 0.1 5.03 4% Jf e [T B 400mH 1) 2r3  49.42
5.19 % & %200m X ) 3h2  21.77 3.9 4.28 KRS IRIE kTR E 25 110mH 1hl 13.76 1.5 5.18 4% & HA AREHE F400m 128) 5h2  48.38
4.28 [RESIRHE AR A ER 5 110mH D 1rA  13.70 0.7
[172] ¥D Fofg 86. 5.24 (LOWTEC - #4%) PB=13.93 /QB=13.98 5.05 [H 7 T—LVF T T T Y R 5 110mH 5 13.94 1.4 | [ 89] JEAK JEsE 90. 5. 6 (&+im « T3E) PB=48.41  /QB=48.41
4.13 % 8 PRI B s BiiomH X 2rl 14.36 2.3 5.18 [E 31 BASRAE B 110mH 1 13.95 -1.5 4.13 A& 4% SEBER LR RR H400mH U 10P  51.48
4.20 b HUTRTHE 5 110mH 6 14.55 0.5 5.03 & Jf a%Hll%% 55400mH 3) 2r4  49.73
4.20 hva FORTFHE 5110mH 2h3  14.64 0.2 | [504] g BHE 92, 8.10 (LR 37KH) PB=13.98  /QB=13.98 5.05 [€ 7 =T 7T 7Y H F400mH 5 49. 92
4.20 b HRURTFHE P 110mH 3s1 14.46 0.8 4.01 Bk FURR L (F511a) 5 110mH 2rl 14.35 0.9 5.19 4% fa HA AREE 400mH 2 50. 93
5.04 /K 7 VSRECEE 3 110mH 33) 4h2 14.24 0.6 4.13 HER SRR 2 (55 2[m1) 5 110mH Irl 14.09 1.6 5.19 4 & HH ARTZHE 53400mH 1h2  51.80
5.04 /&K F 71<F¥Eﬁ 5 110mH 4rB 14.24 0.2 4.13 HBEKR FUBE R 2 (B 2(E) 5 110mH 2rBl  14.15 0.1
5.18 % H AR 5 B 110mH 6 14.47 1.9 5.04 K A 7I<F'#E3? 5 110mH 1h2  14.02 0.6 | [102] JEBE R 82, 4.22 (J +VIC -3#0) PB=49.89  /QB=50.37
5.18 4% %HK%%I 5 110mH 3h3 14.49 —0.4 5.04 K 7 FE 5 110mH 11) 2rA  13.98 -1.3 5.03 4% JE i ] [ =] 53400mH 20) 4r2  50.95
5.06 Hii kK iﬁf&kw&A(éﬁslﬂ) J5400mH 101) 2 53.28 )
[206] 4 Bh— 85. 6.12 (A vt -igR) PB=13.69 /QB=13.86 5.18 [E 1 BASRAE 5 110mH 1h4  14.22 -1.7 | [106] JKEF fHEZ  90.10.25 (J-VIC -«H#x0) PB=49.99  /QB=49.99
5.12 FRJI| F S L 5 110mH 49) 3 14.35 -0.5 5.18 [€ 7 BSR4 B 110mH 252 14.36 -2.4 5.03 4% e IS H400mH 12) 5r3  50.58
5.12 &R RIS ] 5 110mH 2h3 14.69 -2.4 5.19 [H 31 B B 110mH 7 14.16 0.4 5.19 4% fa HA ARE 400mH 3 50. 99
5.19 4 & A AR 53400mH 2h1 51.56
[238] fR{ ffz 87. 8.11 (227 - 540) PB=13.73  /QB=13.86 [584] #9%F KEE 91. 9. 8 CRUELHEE R 4 4LiF) PB=14.12  /QB=14. 12
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5.19 &% & A AT Bk 3 2.10 1.27 </ A RT v Ay TREN B Ak 1 i2.20 2.23 W 7§ VE [ - E i PN e Tk 2 i5.20
3.23 Lta-aly AL 5 Gy 1 2.14 4.07 UMK ﬁ(’ﬂiﬂiﬁbum&%(éﬁl@) Tk 1 5.20
[112] % FEA 85 1.18 (STAC < W) PB=2.13  /QB=2.12 4,14 HiER FURKBER 2 (Fi20m) Tk 1 2.15 4.29 JRESIRBE MR EER LR ERR T3 bk 5) 2 5. 30
4.056 K U B A A L S AR Bk 2 2.06 4.28 f=HSF A ARBRERIAKILRS & Ebk 2 2.20 5.18 % & HA AREE P bk 3 5. 20
4.14 B R BT © o a7 VAT BRIk 13) 1 2.12 5.18 [E I B bk 2) 1 2.25
4.21 DA HOUETHE B ek 3 2.06 [356] #km Kt 87.12.30 (227 + &JII) PB=5.70  /QB=5.70
5.04 Bk, B AR Tk 1 2.05 [576] g ¥ 94. 7.21 iR 1#78) PB=2.15  /QB=2.15 4.20 ity b ~Uy Yy 7Y L— & 2) 1 5.70
5.19 % & JH ARG B Em Bk 8 2.00 2.03 KRBibk 74:/1~7§Wﬂ)ijc% F bk 1 i2.12 4.29 JNESIRIE MR E SRR E R 1 5.50
4.13 HUER %(@jt K P mpk 1 2.10 5.05 [E 7 T—NF 5T R 3 5. 30
[131] M @2 81. 1.18 (=2—F—F - 50 PB=2.23  /QB=2.12 4.28 fo=H=F El?tili??ﬂu%ﬁxmk/\ & Ebk 7 2.10
4.05 K e A = BBk 13) 1 2.12 5.04 R FOERBEH 2 (5 10a]) Bk 2 2.15 [358] 3 FHK 90. 4.10 (= MBket PB=5.22  /QB=5.20
4.21 DA FOUETHE Tk 1 2.09 5.18 [E 7 Bk Tk 6) 2 2.16 2.10 BlEF )1 V= N BRI S 4 i4.90
5.04 /K 7 SR EE F ek 4 2.10 4.13 L FINRIBT — =1 4 4.90
[6578] wHif  Ek R 1J5K) PB=2.12  /QB=2.12 5.04 H f8 R TFHE 5 4.90
[138] AfRH H& 82.10.29 (Fr7Fu—4 - Hx) PB=2.22  /QB=2.15 5.04 HfEK %(@jc 5‘2/\ 1)) B Empk 39) 4 2.05 5.11 fu F)NEGR A — = v 1 4.90
5.06 A K H RS2 Bk 31 2 2.06 5.19 J& I EeEES=Fil 26) 1 5.00
5.19 % & JH ARG FEmpk 7 2.00 [679] oo MEEE 92. 6. 4 (R 3 PB=2.19  /QB=2.18
. 4.07 HUfER AT H B 2 (55 108]) Tk 2 2.05 [397] W] filth 93. 7.28 (EN PB=5.20  /QB=5.20
[141] +R 3 86. 2.01 (v 7 m—¥ - J50) PB=2.25  /QB=2.15 4.20 FHAELR [LPNESTEd & Epk 1 2.05 2.10 BFF )1 V= N BRI R S 1 i5.10
5.04 K 7 AR G bk 6 2.05 1.28 o IFSF HAERBOMAILR 2 Gy 3 2.10 413 0 f AT — =3 bk 5 4.80
5.19 4% & HHARGEHEH] Bk 9) 2 2.15 5.04 HUfER HUER e S (5 1) B bk 1) 1 2.18 5.04 # & =) Hm%ﬁ% %%mﬂb 10) 1 5. 20
5.18 [E 31 B 3wk 4 2.10 5.12 & J& BT 2 5. 20
[145] #EA X 90.11.2 (=24 50) PB=2.13  /QB=2.13
3.26 [E+K Id:jtm&’/\(%filﬁl) 1 2.05 [602] |I'F #E4L 94, 6.14 (HPER 14k PB=2.12  /QB=2.12 [398] [ . 91.12.11 (BA%ER PB=5.40  /QB=5.40
4.21 N7 T 31) 2 2.06 5.18 [E 31 B BEmEmP  122) 9 2.00 2.23 W 7E PEH - m’fg‘ua N PR e Bk 6 i5. 00
5.19 % & iﬁzti%%! 5 2.05 4.03 B Y 10P  5.00
L [632] “HA  #t 91.12.11 (R K 4%@[) PB=2.20  /QB=2.20 4.13 A fh %) ”Lr?L%?J‘—«—/\/V 4) 1 5. 40
[185] ik JAME 87.11.13 (ASL1CT %%) PB=2.24  /QB=2.22 4.06 f@ i A JUN A RS (5 11RD) B rpk 2 2.05 5.04 fL )| R T 2 5. 20
3.13 ¥ F=— A=A L7 U TEFH 5 ; 3) 3 2.22 4.28 fe=HEF AASESERILKRS Tk 19) 8 2.10 5.12 & & B PG 2k 1 5.20
4.28 FEZHTE AAGEREFIR LIRS 5 1 2.20 5.11 J # U FE B Empk 1 2.08
5.00 Ny TUT U7 (H) 5 7 2.10 [481] P4t A 89. 5. 3 (K&K PB=5.30  /QB=5.30
5.08 Far7 U TUTITUTY () 5 3 2.21 [644] HEWS EEth 91.11.13 (& K 47%)I) PB=2.16  /QB=2.16 2.10 &5 IR E NP R 3 i4.90
5.19 4% & HHARGEHEH] 5B 1 2.18 4.04 REE . KICPE 16) 1 5.10
[661] )i Wy 92.11. 3 (Cinbis SN 3FKM) PB=2.12  /QB=2.12 4.29 JRESIRIE Ak E LA E R 8 5. 00
[242] 7‘r# Wl 83 9.12 (BRIFKZ - BH) PB=2.20  /QB=2.20 4.01 m&jc GOl A2 (G 1)) Tk 19) 1 2.10 5.12 & & BavE A 4 5. 00
4.14 B fl FEIREREE 2 Ak 15) 12 2.11 5.19 [H 7 B4 & m bk 2 2.04
4.21 Hi fH TR E RS R K BBk 1 2.03 [549] *E R 94 LION A1) PB=5.30  /QB=5.30
4.28 FEHSF AARBERFIHKILRS Btk 3 2.10 2.23 i W VEH - .Eﬁ% EAimﬁﬁM %%Fﬂyt 26) 17 i5.00




2.23 i 76 VG - e AL S R Bk Bk lc2  i5.00 [204] M #AHL 90, 4.13 (CN: « KBK) PB=7.71 /QB=7.71
3.31 40 % AR TR Bk 2 4.80 [189] OHiE K— 88.11.30 (7 v 7S C - #8) PB=16.08 /QB=15.95
4.06 HTk LR R e BBk 2c2  5.00 [311] /i A% 87. 3. 7 (EAEL - [LJ) PB=7.70  /QB=T.70 4.29 JNESIRIE MR E SRS E R 5 =Bk 4) 9 15.22 1.4
4.29 )R IRIR wﬁkﬁﬂéﬁfﬁua EIE T Bk 7 5. 00 414 SURRBFFLRE 5 EEBE 17) led  7.52 0.2 5.11 3 % ElnE s P = Bei 1 14.89 1.1
5.18 Fi A HF TP Bk 3 5. 00 5.04 i /it 7% RS T4 Hloom X ) 3 10.49 5.2 5.25 f@khk R T CHitis (33l 5 = BBk 1 15.14 1.1
5.25 Tk qjh‘d(j:i@m&x(ﬁﬁ@) BBk 4¢2 5.00 5.18 J& i [o[EE=E SFil BEE X 2 7.43 5.3
[213] iR % 86. 9.26 (ARFUAA - §H[¥) PB=16.17  /QB=16.00
[553] /g IHE 91.12.12 (R 4%50) PB=5.20  /QB=5.20 [364] TFEHH—EE 90. 10. 10 UL - f@lE) PB=8.08  /QB=8.08 3.16 B BREHMAY—% v b IigEe 5100m X ) Irl 10.59 3.0
5.25 HTK TR g (5208 BBk 10) 2c2  5.20 4.06 A&l K JUMNZEAE R 2 (5 11RD) 5 ARk 10) 1 7.61 1.5 4.06 ¥ In ] B2 G X 81 ks (55111 55 100m 147)  Irl 10.77 0.8
4.29 KRS IR fkE RS E R 5 ARk 6 7.48 0.7 4.07 & in ] B2 7 X 81 ks (B 11155, 200m 1rl 21.69 1.2
[557] ARy T/EkIA92. 1. (GTPN 4 FB) PB=5.30  /QB=5.30 5.05 [H 7 T—VF T T Y HA TRk 5 7.51 0.4 4.20 & e ] UL 0 X2 T #200m 1 21.49 1.3
4.20 TR qjhijtj:ﬂémﬂi/\(a%l@) Bk 2 5.00 5.19 i 43 YIRIIESS JFi| B ARk 1 7.51 0.2 4.20 ¥ AR e ] L G X338 T 5200m 1hl  21.69 0.6
4.29 JREGRIE AR R A ERE T Bk 5 5.20 6.01 fali K JUN AR (B 21RD) B Rk 1 7.55 0.7 4.21 ¥ e ] VL VG X338 T P = Bek 1) 1 16.00 1.6
5.04 7k 7 KA Tk 2 5.10 4.29 JRESIRBE MR E S HERL AR E R P = ek 3 15.99 0.9
5.18 Hi B BBk 5) 10P  5.30 [374] W fi®  89.10. (RWE kel - RI%) PB=7.73  /QB=T.73 5.03 %% J ] [ 200m 35) 5rl  21.22 0.5
5.25 Tk UK BB (H520E) BBk le2  5.20 4.13 B H Rl nﬂﬁ%(éﬁl@) Rk 1 7.18 0.2
4.29 [RESIRBE MRS ER TRk 9 7.34 1.2 | [246] LA A 81 9.14 UNBZ LA« ) PB=16.09  /QB=15.77
[560] LA Fi& 92 3.11 [CUPN 4%%) PB=5.71  /QB=5.71 5.19 @ Elﬁ%ﬁiﬁ% 3 A bRBk 21) 1 7.50 0.2 5.04 K KPR =Bk 15.22 1.6
2.02 KBk AAY 2 =7 BN KRS Bk 0P i5.71 5.11 KR ERAE S 5| 1 14.99 1.1
2.23 i 78 V8 FH - ve S R e 2 PR R v Tk 1 i5. 60 [424] @m0 93, 7.11 ([E# K 2kiE) PB=7.70  /QB=7.70 5.25 K PR RS (F520E)) 20) 1 15.48 1.8
3.31 51 % B AR BBk 1 5. 60 3.23 HEKA ER K7 4 —/L FEite IRk 3) 1 7.70 1.2
4.20 K ORI (5 1D Bk 1 5. 40 413 & SRR R B Rk 1 7.42 1.1 | [363] [ #EIT 90. 7.13 (VBT PB=16.54  /QB=16. 54
5.05 S F—NTF T T 7Y R Tk 1 5. 50 427 [HRK ESi W N e 5 5 A EBk 1 7.34 1.5 4.06 @[k JUMN A RER 2% (R 11RD) 1 16.80 1.3
5.18 Hi B BBk D1 5.74 5.25 MUEEEE  BIRAE L FE 7 7.36 0.0 4.29 JRBIRIG Mk E SR E 2) 1 16.30 1.5
5.04 THZ O g FHE 1 15.56 0.3
[443] @B snth 93, 6.13 (BN 2 F3E) PB=7.68  /QB=7.68 5.18 ¥4 JUM EZE 1 15.95 0.3
= =] > g 2.02 KBhk AARY 2 =7 BN KRS ARk 20P  i7.41 6.01 f& A JUMN AR 2 (B 2lE]) 1 15.84 0.0
< %?%mmwtﬂjiﬁ%0)201 3¢$EE‘Z%§> 3.30 JlE K NEA s 2 (591E]) 5 ARk 2 7.20 1.6
4.06 f& i K JUIN A 2 (B 1) TRk 4 7.27 -1.6 | [387] fEfp IR 91.11.07 (BHK PB=15.72  /QB=15.72
[F&5] K4 AR G - BER) PB=H Cilek/QB=E 5 FLEk 4.20 FAALR UPRE2FoEd B Rk 2 7.24 0.6 3.31 W % HUE PR 1 15.51 0.6
AR Yt B R% TR 134 B AIERD) ARt sk 5.04 K SRkicENd PRk 3 7.48 1.4 4.13 LRI u&ﬁ%%éuaﬁ%x (I B2 5) 1 15.56 1.0
—————————————————————————————————————————— 5.25 BEIRER B B ARk 3 7.67 0.8 5.19 it fl B X )1 15.88 2.7
5.19 ki F ﬁ(’ﬂi%% 9) Ik 15.76 0.7
[ 26] il % 83 8.2 (FORZA - 7R¥) PB=7.73  /QB=T.73 [446] paifE 5% 92.12. 5 (FEPN %) PB=7.87  /QB=7.87
4.21 A ST H;ﬁiuaﬁA(ﬁ’%l@) BEEY X ) 1 7.21 3.1 4.13 I8 K MER B 2 (5 10m]) %ﬂsﬂk x )1 7.47 2.3 | [441] B Kk 91 8. 6 [(:B~ PB=15.85  /QB=15.85
5.18 &% & HA AT F =Bk 116) 11 14.73 1.4 4.13 JlE K IR B 2 (5 11E) 5 EEBE 1% 7.29 1.2 3.30 I K NEAR 5t 2 (B591E1) 1 15.50 1.8
) 4.20 AR LPNES I T LRk 1 7.30 1.1 413 I K MER i H 2 (3 1[ml) 1 15.41 2.6
[ 44] %I PEF 85 8.30 (X% - ESS) PB=8.10  /QB=8.09 4.29 JRRSIN R e L AR [E T B Rk 8 7.38 L5 4.20 AT YRR 1 15.33 0.0
2.02 KBk AAY 2 =7 BN KRS B iRk 7)) 10P  i7.67 5.04 K 7 SRkicENd Rk 26) 4 7.47 1.2 4.29 u\%wﬁ %ﬁzaﬂéﬁmﬂ E 8 15.56 0.3
5.25 BEIEERS B B iRk 4 7.40 0.3 5.04 K 14) 1 15.65 1.5
[136] K HRE 91 2.17 (Br7ua—H - H 50 PB=7.78  /QB=7.78 5.19 EI A Fﬁ}ﬁ%i X 4 15.60 3.1
4.06 f& [ K JUN A 2 (B L)) JEmak 2 7.61 0.0 | [512] AT MEIK 92.12.22 (UK 3RHF) PB=7.79  /QB=T.79 5.19 [E 5L B AR 4 15.02 -1.0
4.13 FEK S 2 (H520m]) 5 AEEk 3) 1 7.70 1.7 3.25 NEFiT BIRUHEREA—7 T EapE 1 7.43 1.1
4.29 JiJi 5 Tﬁméﬁfﬁuaé&’% P EEBk 3 7.66 0.4 4.13 HEKR FUERBER 22 (F5200) TRk 2 7.46 1.4 | [510] T F— 89. 4.18 (BB R PB=16.25 /QB=16.25
5.04 /K JAAAE T A=k 1 7.65 0.0 4.29 JE IR wﬁkﬁﬂé?—*&ua NEa Rk 7 7.45 0.4 4.13 fp 7 /EE@Lr%%S RS 1e2  16.34 0.2
5.19 % & ﬁazti%%! B EE Bk 1 7.49 0.4 5.04 K 7 VRkicEN 5 Rk 2 7.63 0.6 4.20 [ 1 HG ﬁ% X 3 15.35 2.5
) 5.25 MURERS  BIHCAAE 5 A EBk 6) 2 7.69 1.2 4.20 [# 57 FUURTAHE 3k 14.80 -1.0
[139] il Jyth 84. 2.15 (£ 7 m—¥ - H50) PB=8.05  /QB=8.00 4.29 KBS IEIS %ﬁ’zﬂaéﬁ&ua E 7 4 15.82 1.6
4.20 }@g;jﬁﬁ %‘7%7%47‘/7 UL— %:?%Fgé 1) 4 7.76 0.8 5.18 [H 7 P A X ) 1 15.84 4.5
4.29 FH 5 ARk X 2 7.68 2.1 — EL = = 5.18 [H 7 Fg;ﬁ%i 1% 15.05 0.4
4.29 JRESIRBE fRmEE B bRk 2% 7.53 0.9 < %?-EXE%H:H’Z%G)ZO-I 3¢Igﬁk_%ﬂ>
5.19 % & HHAREE B EE Bk 2 7.49 1.8 [513] Ky Z&B] 93 1.31 (BB R PB=15.92  /QB=15.92
N [F&5] K4 AAEA R G - BBk) PB=F CLFC8k/QB=¥E 4 Fidk 5.06 Hi A ENON HZA 4530a]) 1 15.36 1.9
[162] Fifi @ik 91. 1.15 GOkl - Hi0) PB=7.80  /QB=7.80 AR % ixsEazd T 134 AANANL) Aot Fodk 5.19 [H 7 B 5) 1 15.92 0.8
4.29 )/\%wﬁ ik FH A e J 10 730 0.2 | ——— - 5.25 HRIEERE Fg;ﬁ;i 95) 9 7.21 -1.9
6.02 H EBN s ENEE) B tEpk 30) 1 7.45 0.5
[ 26] Rl % 83 8.22 (FORZA -7k PB=16.32 /QB=16.32 [605] Lz ZfE 92. 3.19 (AR PB=16.10  /QB=16. 10
[163] &/  BE 89. 1. 2 (BBt < HH0) PB=T.74  /QB=T.74 4.27 B L ERAE S CAE)) B X ) 1 7.21 3.1 4.29 r”%r”hﬁ %‘a’zﬂiﬁ?ﬁ& FLARERE 10 15.21 1.3
5.06 A K EBN £ Ea B iRk 95) 4 7.21 0.3 5.18 4 & HAARFEIEH 5 =Bk 116) 11 14.73 1.4 5.19 [H 22) 17 15.47 0.3
[191] jfﬁﬁ SF 86, 4.18 ek (ﬁ@%?»t‘ %iﬁ?ﬁ%) PB=7.89  /QB=T7.82 [130] sk Eﬁﬁss 6. fé (:1~%~g~ﬁﬁ) PB=15.87  /QB=15. 71
2.02 KFss AAY 2=7 i ARk 30P  i7.19 4.20 [H 57 SURT =Rk 2 15.46 0.6 L = L g
4. 06 f@ K JUIN AR 2 (B 1) B Rk 3 7.56 0.0 5.04 K 7 VSR P =Bk 2 15.58 1.3 < %?E@.;—L?Xﬂjiﬁ%a)201 3¢I§E€%ﬂ>
4.29 )/\%Wﬁ ik FH s AT s T B P EEBk 5 7.52 -0.1 5.18 4% & HH AR BBk x ) 3 16.11 2.1
5.04 K 7 LAYREiSER] ARk 5 742 1.4 | 518 &E WA AFHEM 9 =Bk 1) 3% 15,71 1.2 | [#5] &4 AEAEA A (G © BEK) PB=H CLAiek/QB=HEHE T SR
5.12 B 18 Elnl-E5= S5l B bRk 12) 1 7.59 1.4 AR % [xsEazd FiH 134 AANARD) At Fodk
[133] 764 5 87.12.26 (=2—€—F - M) PB=16.26 /QB=16.08  |—————————————————
[208] fdhpl 27 86. 2.10 (B TAC - I%R) PB=7.93  /QB=7.71 3.25 [HER ltjc i (8[a]) P =Bk 1 15.18 —0.2
4.29 JRESIRBE Rk RS A R T A Bk 16) 4 7.53 0.8 4.20 [€ 7 HOGERTHE 5 =Bk 17) 1 15.52 =0.2 | [ 31] M 79.12.21 (FIRE A2 - KUK PB=16.20  /QB=16.20
5.04 H f I R F A B EE Bk 1 7.26 -0.7 4.29 JE IR wﬁkﬁﬂé?—ﬁﬁua NEE|S BEBBE x ) 5 15.70 2.7 2.03 H K FUB ORI T & ik BRaA 2 15. 06
2.23 mffllﬁ VB RR AP C & ik 2y (F52MR])  FBhufu 1 15. 38
[243] # % — 88.12.27 UNBT LA« ) PB=T.72  /QB=T.60 [142] #1285 6.09 (B> 7 u—4 « {5 PB=16.40  /QB=16. 40 4.14 HIEKR U REH 2 (B5210]) Ffia L 1 15. 59
4.21 Hi HE R E RS R K B EEBk 1 7.24 0.5 4.29 JKES IR fR AR S E R B = Bk 7 15.66 1.0 5.04 K VSRELEE BRaA 2 15. 59
5.04 K 7 AYREitER] ARk 7 7.20 -0.8 | 5.18 & i WA AFHEM 9 =Bk n o1 16.40 1.7 5.19 %% fi A ARG Tt 21 3 15.65
5.12 KR/ F SE B iRk 32) 4 7.42 0.8
[173] fm¥E JR3E  82.12.20 (TAC - fh4%) PB=16.22  /QB=16. 16 [ 49] Jmii H 82.12.18 (fr& A — FS - §f5) PB=18.56  /QB=17.91
[245] &)1 A 90. 9.26 N7 LA« 35) PB=7.93  /QB=T.93 4.29 [RESIREE AR ER B =Bk 6 15.68 1.4 4.21 w7 i) L—h—=L Ffia L 2) 1 17.79
5.12 KB R 2 B iRk 32) 3 7.42 0.4 5.18 4% & A AT 5 = ek 8) 4 15.78 1.5 5.19 4 & HA AREEE Tt 1 17.01
[281] I Kili 81 9.19 (NOBY « KPK) PB=8.09  /QB=7.80 [182] #&JIl ¥£F 83.11. 8 OV kRl - 404%) PB=16.45  /QB=16. 26 [113] FkA gt 90. 7.31 (T+-1TO -3#x0) PB=16.12 /QB=16.12
3.30 15/ 2% BLRAE NG aﬁ%(%s@) 5100m 156) 1r6  10.78 1.9 4.29 [RESIREE AR ER 5 =Bk 2 16.02 1.7 317 ®OK RS (5 170]) Tt 1 14. 65
4.29 AR IRIR T&Eﬁ%fﬁ I3 B EEBk 3) 1 7.70 1.6 5.18 4 & HH AR 5 =Bk 3) 2 16.26 1.9 4.07 EH 1 FU N KRR Brai 10P  15.39
5.05 [§ 7 F—NF LT 5T Y HUR B iEpk 7 7.46 0.8 4.21 [ 7 BUUR THE Tt 19 1 15.71
5.18 J& W& [EEpEE=4Fil F ARk 3 7.33 1.8 | [186] RAJIKIE 90. 2.2 (AL I CT - f#4%) PB=16.24 /QB=16.17 5.04 Dk BEXEE Brais 1 15. 25
4.07 HUER irﬁﬂiﬁ%'m&x(ﬁzl@) BB X ) 1 15.97 2.2
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[183] LIRS 85. 8. 7 (FRRLIF TPl - #44%) PB=18.64  /QB=17.35 4.13 HUER O - AR EE2 bR 20) 3 15. 67 [461] MW #K 89.10.23 CErEE R R M2#TiE) PB=50.90  /QB=50.23
4.28 B 18 B TR T 5 P 1 46. 33
[295] #H)II #F 81. 5. 1 (KB Bt + KBX) PB=18.43  /QB=16.80 [622] Wawr 5LM 93, 2. (A X 3 FIE) PB=16.20  /QB=16. 20 5.18 ¥ 18 AefEREA BaRt 2id 20) 1 48.17
4.21 #f F R L—h—=3L Braf 5) 5 16. 80 4.13 BUER R Ekﬁ& BRI 2 16. 20
5.26 RRIRERE B AR 10) 3 16. 38 [500] /NEF Eéf 89. 7. 1 ( LK M2 =) PB=53.31 /QB=53.31
[323] #hK i 86. 4. 5 (R ikt - Fnef) PB=17.25  /QB=16.87 2.03 H A BRI T Felk e 1 50. 58
4.21 # HF fEf Y L—h—= 3L BRI 4) 4 16. 87 [626] =W &HX 90. 6.14 (A K M1F%0) PB=17.35  /QB=17.35 3.23 #7 IRy F@fxéknﬂ&%(%@) EelRk e 1 50. 46
5.04 /K KR BRI 1 16.74 4.13 HfER HEAR - B AR Tl 10P  16.89 4.01 Bk HU RBEH 2 (BB 11E) T s 2 48.23
5.12 A=JFSF  FEK LR ETRFHE BRI 1 16. 60 4.21 R L—h—=3L BRI 3) 3 17.19 4.27 ME=JESF AAEREEKILAS 5 H % 9 49. 49
5.18 J& W B 7 S22 5 A 54) 2 44. 02 5.25 MEEEE  BIRAE Frat 1 16. 82 5.06 HE A FUB R IER 2 (553[E]) FelRk e 7 2 50. 60
5.19 & BV FE Btk 1 16. 80 5.06 H K SU K2 (3] BEARE 253 2¢2  50.33
[328] &/ EHAH ( B / - 5.26 RRUCEEE  BIHCAAE A 9 47.34
328] 1@ g 88.11.21 BMAC PB=16.50  /QB=16.02 JL = -
4.28 & T Al Ttz 16) 1 16.02 < %%Hﬂ%?ﬁ&iﬁ%wﬂn 3EIEE‘Z$E> [509] @i % 91. 1. 8 (FLE KR MLIZJfi) PB=51.76  /QB=51.76
5.05 # SRS B 1 15.31 B B o 2.03 HLHAR FUB ORI T E it 5 P 3 46.12
5.19 &L S Frat 2 14.94 [#5] K4 EAEA R (Tl - GK) PB=H CLRCEK/QB=FI MK ik 4.01 SR BN e e CANED] Eedl i 1 50. 31
A B Bt BRs TR 134 ANEAL) Aot Fofk 4. 14 :ﬂ.?BZjC L REH 2 (B5210]) T 1 50. 19
[344] Kif = 83 7.21 (HEFTRLA& AR - 1) PB=17.94  /QB=16.46 ~ | —————————————————————————————————— —————— —— 4.27 A= AASREEK LS B 8 49. 65
3.20 (LB L nRBR( SRS (4[] Fla g lel  15.40 — 5.06 HLHK FURRBEBE (H53[80) Eedl i 3 50. 19
3.20 (hEAHE  hE RERILELER S (B 4lE) BRI 1e2 15.41 [143] =W 8 84, 6.13 (v 7w —H - Fx) PB=54.20  /QB=53.99 5.06 HLi K BN PN S CRIE 5 3c2  49.85
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[154] mh #Efx 90, 2.12 (F—A + HUs) PB=15. 27. 55/QB=15. 34. 21
3.17 (1 A BHARFEEMN—7~T Y &Z10km JiE ) 24HM 32.56.
3.17 A BRAAREEH NN—T<F V> ZI5km @& 1) 2HHM  49.15.
3.17 1 [ BHARFEEAN—7~T Y &Z20km & 2) 24HM  1.05.46.
3.17 (1 A BAREEAN—TT VY T 2) 2 1. 09. 18.



[158] BER k4 92.10.29 (F—A=An - JU) PB=15. 37.27/QB=15. 37. 27 [ 17] EJH #T7 80. 6.18 (AARY I3 - @) PB=32.17. 39/QB=32. 23. 98 1.27 K B KIEEE 7~ T =7 i 23) 4R 1.11.36.
3.25 [H+K HRFEHE (F580E) 41500m 24) 2r3  4.26.03 2.17 % M Fifli~v o v 410k 19) 1 33. 34, 127 K PR KREB Lt~ T Y #25km & 4) 4R 1.24.56.
3.27 [EHEX E Rt (F581E) #5000m 1 15.59. 31 2.24 B 5 W~ 7y #Z15kmfi Fi& ) 12+MR - 52.35. 1.27 K K KIREE 7~ T #Z30km & 4) 4HMR 1.41.59.
4.28 /T Vb B — VTR #5000m 13) 14 15.44. 99 2.24 B H W~ 7y #Z20kmfy Fi& ) 124MR - 1.10.39. 1.27 K B KREE &7~ T =Yy 1) 4 2.26.41.
5.18 A% A& HA AT #1500m 4 4.28.84 2.24 B T B~ Y L7 JF ) 124MR 1. 14,41 5.17 J& I EeEE==Fil 4£10000m 85) 18 34. 47. 30
2.24 B 5 Wi~ Vv #Z25kmfy Fi& ) 124MR 1.28.53.
[224] ‘Z&jk A& 94. 3.16 (2 il - i) PB=15. 33. 72/QB=15. 33. 72 2.24 B H B~ T Vv Z30kmf T ) 124MR - 1.47.29. [343] %’F H¥E 92, 6.01 (=7n + 1) PB= 31 45.29/QB=31. 45. 29
4.06 & A LT RN R IR A RS &5000m 49) 2r2  16.02.08 2.24 W I HH~F Y IV 22) 12 2.33.21. 3.17 B T FORLTF 4 —AN—T T A 10kn 1 33.19.
5.18 4 & HH AR #10000m 63) 14 34.12.67 4.28 /Sa TV b B — VT VAR #:10000m 1) 3rB 31.45.29
[255] /hRHABL T 88.12.12 (¥ [ F @k - 22 5) PB=15. 05. 37/QB=15. 23. 38 5.12 2L L ENEES S5l #5000m 4) 2 15. 58. 95
3.01 7 kv U7 hVERN 1V F-n"= ) 5ovT i4.39.86 [ 77] #4 {-% 88 2.26 (==L « TIE) PB=30. 59. 19/QB=30. 59. 19 5.18 L L T E 4£10000m 1 32. 35. 54
3.02 7 kb T FAEN #5000mf-"= ) 20vT il5.54.18 5.19 XL hE M #23000m 36) 1 9.28.23
4.19 twfyb ~U Ry sy L— #5000m 96) 29 16.21. 29 [ 82] Jhit il 88 2. 4 (RS - FZE) PB=32. 16. 46/QB=32. 16. 46
317 1 n BAREEHAN—T<TF YV L10kn 3) 2 32. 55. [354] J¢ L B4t 91. 6.19 (RIFRIE - {#)5) PB=32. 54. 01/QB=32. 54. 01
[257] W« 2L 93.11.23 (¥ [ @k - 22 5) PB=15. 21. 77/QB=15. 21. 77 2.10 F§ ¥ L0V A b — #210km 69) 12 34.49.
4.06 fiE A SIEMRKE D REREAKRS &1500m 4 1r2  4.27.88 [ 84] WKk #7 85 7.13 (RS « F3E) PB=31.43. 25/QB=32. 07. 70 3.17 1 [ H AR 10km 7S 28+HM  34. 55.
4.21 4 F LY L—d—=s1 #1500m 4 ) 2 4.24.11 2.03 AL f HBEEN—T~T Ze5km TR ) 3+HM 16.21. 317 b 1 4e20km R 77) 28+HM 1. 11.40.
5.05 hva =TT T T FUR #5000m 4 ) 8 16. 05. 27 2.03 H fa WAREREN—T =TV #Z10kmT TR ) 34HIM 3245, 3.17 1 1 r=7%3)y  82) 28 1. 15. 35.
5.12 R/ BRI ] #5000m 4 5 16. 25. 67 2.03 H f HBEEN—T~T #x15km & 3) 3+HM  49.26. 4.14 1 M #3000m 2 9.27.12
2.03 L fa HAEPEN—T~T Y 420km & 3) 3+HM  1.05.58. 4.21 7 EEY L— ﬁ—:/\/u 4£10000m 26) 11 33. 15. 66
[266] i W& 89. 7.02 (Fry— - =) PB=15. 35. 38/QB=15. 35. 49 2.03 L fi WAEERE N N—T~F Z-IRT ) 3) 3 1.09. 32. 4.29 JRESIRIE MR E SRR AR E #5000m 63) 24 16.07. 60
4.28 /Sa TV N =TT ARG #5000m 13) 15 15.44. 99 4.28 STV kB — TR #10000m 2) 8rB  32.07.70 5.11 0% @%%@Eﬁﬁ%aﬁA(ﬁzzlﬂ) #3000m 30) 2rA 9.25.97
5.11 £RJI i FE 3] 2£1500m 62) 3 4.30. 22 5.17 J& Ik} [iS[EE=dFi) 4:10000m 8 33.31. 15
[135] #f)Il % 89. 8.07 (IR « A0 PB=31.10. 02/QB=32. 20. 34 5.18 J& IRy P PE S M #5000m 8 16. 16. 44
[342] R#B< Az 95 3.23 (=71 « JLI1) PB=15.31. 65/QB=15. 31. 65
[152] #HFL #Ef: 86. 4. 4 (CF—:fr « HUI%) PB=32.45. 60/QB=32. 45. 60 [359] &t %1 86. 4.28 (K ALIB7 =« @A) PB=32.18. 40/QB=32. 18. 40
[360] /A& A% 85 6.24 (K ALFBZ = « A PB=15. 35.90/QB=15. 35. 90 2.03 H fa WREBEN—T~ TV Z5km ST ) 18+HM 16.21. 3.03 £ 4 BEMELN—TT I #10km 16) 3 33. 32.
2.03 H f MBEEN—T TV #bkm JT T ) 9+HM  16.21. 2.03 H f HBEEN—T~T #Z10kmf Fi& ) 18+HM  33.0L. 4.21 # F ) L—h—=UL #10000m 95) 24 34. 58. 60
2.03 f fa AAEBEN—T TV 10kmfT TR ) 9+HM 32,44 2.03 FL fa AAEREAN—T TV #215km @& 17) 18+HM  50. 49.
2.03 2 n%@lﬁxw7vﬁy‘/ ilSkm % 6; 9+HM 49, 27. Z'OS;E 2 h§§/\~773y‘/ izom b2 33; 18+HM  1.09. 08.
2.03 H ABEEN—T~ TV 20km & 9) 9+IM  1.07.04. 2.03 WREREN—T~F 79707 39) 18 1.13.02. =] - g
2.03 L f HAEFEN—T~T Vv L7977 13) 9 1.10.51. 3.27 [E+KR E L RFE 2 (8lE) 4£5000m 4 16. 16. 49 <t%1 Oom H Hjiﬁ%ODZ(” 3$IEW$§>
2.24 & W AH R Fy—bvT Y T~T 9 2. 35.02. 4.20 B 1 HOLBRTF #:10000m 8) 3 32. 45. 60
3.10 £ HERTAA VAT 12 10kmfi Tk I5+MR  33.57. 5.11 V6 B T LT U= A RInD I A #5000 27) 13rA  15.53.16 [F5] K4 EERR Gz - %kk) PB=Fl CLACsk/QB=HE A% iL ik
3.10 4R HEBYAA AT K15k & 154MR  50.57. AB B e FEH 134EHANEND) plf Rod
3.10 4 & Ea b 3 20km R 15+MR 1. 08.43. [153] M #%E 88 1.25 (i — A=A © W) PB=32.27.70/QB=32.27.70 | —————————
3.10 4 & EAT -0 en-7 & 154MR 1. 12. 36. 3.17 =a-3-) Za—I—I T 4 N—T n-7%3)0  10) 8 1.10.31.
3.10 &5 R ZEEY #25km & 12) 15+4MR 1.27.12. 4.21 ffp = LY L——=/3L 4210000m 12) 4 32.52.94 [ 6] s 7 84.11.18 (AeigiE A 7 - dtifg) PB=13.37  /QB=13.45
3.10 4= HEEY #Z30km i 14) 15#MR  1.46.10. 4.29 JKES IR fRE R S E R #5000m 12) 4 15. 43. 66
3.10 &R LEREY L~V 24) 15 2.34.01. 5.19 4 A ARFEIEH #3000m 45) 1 9.29. 46 [ 8] SFHEBIAAE 90, 1.14 (AeigiE~A 7 - dtifg) PB=13.05 /QB=13.57
4.21 Ap = LY L 410000m 45) 16 33.54. 03 4.20 ¥ (b HERE - #100mH 1 13.99 0.5
4.29 JRIINER ik R R A E R #5000m 37) 16 15. 56. 48 [154] M #fx 90. 2.12 (F—A=An « A0 PB=32. 25. 05/QB=32. 25. 05 4.29 JRESIRIE Mk E R A E B 42100mH 13)  2h2 13.81 0.6
5.12 AfAKREEE A zsjcﬁ.rﬁﬁg jitiax (F5230[E])  £25000m Irl 16. 28. 24 317 1 n BAAREEMN—T TV Llokm Jrik ) 2+4HM 32,56, 4.29 JRESIRIS MR E SRR R E R #Z100mH X ) 7TrA 13.71 2.4
317 1 n SHAREEAN—T<F Y l5km A& 1) 2+HM  49.15. 5.04 K 7 VRELLE #2100mH 4r2 14.24 0.4
[376] s 90. 3.14 (v /v + K4y) PB=15.36.90/QB=15. 36. 90 3.17 [ R BHARFEREAN—T~F Y &Z20km & 2) 2+HM 1. 05.46.
4.06 A8 A SRS T R IR A RS &5000m 13r2  16.27.81 317 [ A BAAREEHAN—T TV LTy 2) 2 1.09. 18. [ 9] ¥if A7 87. 6.18 (AegiE A 7 - dtifg) PB=13.21  /QB=13.45
4.20 fp F T Y L—d—=s31 #5000m 8 16.22. 29 4,29 RSN RS EE #2100mH 15)  3h2 13.83 0.6
4.27 Ropie Koy WRRFHE #:10000m 9 1 32.47.83 [155] Bt vbitt 89. 4.18 (5 — A=A - HA0) PB=32.33. 83/QB=32. 41. 42 4.29 JRESIRIE MR E S HERL AR ERR #Z100mH X ) 2rB 13.67 2.2
5.11 1§ P& T LT U= ARInD_EH £5000m 6) 6rA  15.36.90 2.03 fL A HAFERN—T~ T #5km T &) 214M 16.20. 5.03 &% Jf ] (=] B #400mH 8) 3rl 59. 48
5.18 M43 JUIN M 7£10000m 2 33.11. 05 2.03 L fa WAEREN—T TV 10km/T Fi& ) 214HM 33,05, 5.18 4 A HOAAFE I 7100mH 4 14.52 -3.7
2.03 H f HWBEEN—T~ TV Z15km & 21) 21+HM 50. 52. 5.18 4% & HA AREEE 2400mH 3 60. 55
[384] EBJii =2 95.11.22 (BEVi 54 3JEIE) PB=15.33.21/QB=15.33. 21 2.03 f HAEPEN—T~ TV 20km 3% 34) 21+HM  1.09.09.
4.29 JE BRI ; #5000m 2 15.41. 24 2.03 f HAFERN—T~T Y BnIR7) 44) 21 1.13. 16. i 87. 7.14 [€=Z I N=p %;:*iﬁi) PB=13.70  /QB=13.70
5.11 75 B ~Axlna>«\:»o7bx #5000m 3) 2rA  15.33.21 3.27 EEK Kt (GF8lED) #5000m 2 16. 00. 89 SHRSE BASEECRNER LIRS #100mH HEP  14.09 -2.0
5.31 15 it TR IR s #1500m 19) 2 4.25.21 4.20 [H 7 FOGRTHE #10000m 6) 1 32.41.42 . C=JpsF  AAREBREEKIIRS ;‘r%mmwk X HEP  5.61 2.7
6.01 5 it EEL%%L%W& #:3000m o1 9.08. 19 5.11 V6 B T LT U= W RInDRIBH #5000m 23) 10rA  15.51.79 . SHERE RAREREGEKILIRS Zt 3 5244
6.01 M5 JEE U W AR #3000m 1h2 9.47.76 VRELEEH tclOOmH 3rl 14.07 1.9
[156] FARLRAF 88, 8. 7 (F—:fr « HOIX) PB=32.44. 44/QB=32. 44. 44 AR #2100mH 5r2  14.45 0.4
[520] A& 5 93.12.20 (LR 2 7K%) PB=15. 39. 87/QB=15. 39. 87 2.03 f HAER N N—T~T Y Zbkm R ) 4+HM 1621 HA AREHEM 42100mH 3 14.39 -3.7
2.03 H f HBEENN—T~T Z10kmf Tk ) 4+HM 32.45. A AR T AR L 42100mH 26) HEP  14.03 -1.5
[650] ghAHihF 91.10. 8 (€N 4% 50) PB=15. 33. 47/QB=15. 34. 15 2.03 f HAEREN—T~ T Vv z15km i 3)  A+HM 49, 26. F A3 FAMER AL Rk 36) HEP  5.77 0.9
4.28 JRESIREE fRmE 3] #5000m 9) 2Unv  15.38.08 2.03 S f HAEPEN—T~T Y #720km & 5) 4+HM  1.06.32. A AR TR K g 2) 2 5417
5.05 b A—=NTFT T T T ) FUR #5000m 6 15. 39. 20 2.03 H f HBEENN—T~T BZ-IRT ) 6) 4 1. 10. 10.
5.19 f.ﬁ B H AL 410000m 100 1 32.49. 02 317 [ A BAAREEHN—T~T Y L10km FiE 9+HM  33.04. [ 86] #WF I3 83. 1.10 (BR)IEENE - T4) PB=13.08  /QB=13.63
6.02 5 % 2K BRI #1500m 18) 1 4.25.05 317 1 n EHAEEMAN—T<FT VY Ilbkm R 9+HM 50 26. 4.13 T 1 THE RGO 42100mH Irl 13.93 0.2
3.17 1 1 BARREMN—T~T Y 20kn B 9+HM 1. 08. 06. 4.29 JRESIRIE kR E R #2100mH 7) 3hl 13.71 1.1
[655] A Zsi 95. 1. (Srfn R 1 3U#R) PB=15. 45. 57/QB=15. 45. 57 317 [ A EHAEEMAN—TT VY TG 9 1.11.47. 4.29 JRJESINIER ik R R A R Z100mH X 8rA  13.71 2.4
4.28 R IR wﬁkﬂﬂéﬁfﬁua_ IR #5000m 18) 4Unv  15.50.94 4.20 B 1 HRURTFHE #:10000m 7 2 32.44.44 5.18 4% & HA AREHE 42100mH 1 14.17 3.7
5.11 75 B =T U= A XinD_EH Z5000m 24) 12rA  15.52.69
[662] @im FHE 91.11. 7 [USON 4 fEA) PB=15. 32. 22/QB=15. 32. 22 [247] /& WHE 85 8.17 UNG 7T VA« %) PB=13.70  /QB=13.74
3.03 £ 4 BERELNN—T TV #10km 49) 10 34.17. [255] /ARHABL T 88.12.12 (5 F @hike - 22 %0) PB=31.51. 91/QB=31. 51. 91 4.06 TR %ﬁ;[ﬁ] Rl #100mH Irl 13.77 2.0
4.06 & A %KM BPRIEEEARS &5000m 4r2  16.06. 20 3.01 ¥7 hL 7 REN 1y F-n= ) BovT  id. 39. 86 4.14 Hi Bl Iﬁﬁ%%/\ #100mH Irl  14.47 -2.8
4.21 fh = 410000m 38) 13 33.35. 04 3.02 7 hL T FLEN 450007~ ) 20vT i15.54. 18 4.29 KBS IRIS é?—ﬁ& #2100mH 8) 4hl  13.74 1.1
4.28 JRJINI £:5000m 52) 10Unv  16.02. 58 4.19 iwfyb ~Ur Yy sy L— 4£5000m 96) 29 16.21. 29 4.29 JKk5IEI Ze100mH X ) 4rA 13,55 2.4
5.00 & J& #21500m 40) 1 4.28.17 5.04 &K 7 7100mH orl  13.81 1.9
5.09 & J& BEPE A #1500m 1h2  4.29.19 [291] kM A 85.11.07 (FA N « KPK) PB=32.29.28/QB=32. 29. 28 5.04 K ASREIEES #2100mH 2r2 14.18 0.4
3.17 1 1 BHREEM N N—T~TF Y l0km TR ) 114HM 33.57. 5.12 KR L= aFi| 7100mH 1 13.86 0.8
3.17 1 1 %a$%§/\~7vﬁy‘/ ;‘éwkm % 27) 11+IM  51.08. 5.25 HIRUK UK RS (F520E)) #100mH Irl  14.31 -1.5
= = 317 [ A AARTEHN—T~T Y 20km & 28) 11+HM  1.08.27.
<t?10000mtﬂiﬁ%0)2013¢$gﬁk$ﬂ> 317 1 R BAREREMN—T~T Y hnTIe3)s 30) 11 1. 12. 05. [315] fHiE ZH 89. 7. 5 (fEAEL - JLJd) PB=13.27  /QB=13.39
5.18 J& I ES[EE S Sl 42400mH 12) 2 59. 76
[F5] K4 AEAR G - XRG%) PB=F CLithk/QB=E 5 AL ik [304] /& FEb 75. 7.16 (/=0 - JEJif) PB=31.34. 15/QB=32. 20. 98 5.19 J& IR [EpEE=Eil 42 100mH 17) 1 13.85 0.2
AR % [EiEEd FLH 134 AANERD) Al Fosk 1.27 K B KIEB A F~T Y~ #10km & 36) 4+MR  33.59. )
—————————————————————————————————————————— 127 K B KREE L T~T Y v #15km  Jii& ) 4+MR  50.51. [333] KA+ SC7 88, 6.11 (=F 44> -« JKE) PB=13.04  /QB=13.04
127 K B KIREB kv~ T Vv #20km & 15) 4+MR  1.07.47. 3.23 SHFF RYFF A #Z100mH X 3 13.44 2.6
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4.29 JNES RIS fREEERD g #2100mH 1) 1hl 13.17
4.29 JEESIRBE AR 3 Z100mH X ) 1rA 13.02
5.05 ST T—F 7 7Y H #2100mH 4 13. 20
5.19 AL L HE SN #100mH 1 13.82
[369] #ElI 3¥A 94.11. 1 (it - f@l) PB=13.83  /QB=13.83
4.14 FEZOFR w0 R B AR (L 07%) & 100mH 4 14. 54
4.21 HEZ DR fif] VL] A Sl (2 o Fk) #100mH 61) 1 14.31
5.03 % DR R FHE 72100mH 2 14.35
5.03 fiZ DR LT #2100mH 1h3 14.72
[371] &kt {23 90.11. 8 PR bty - {E7) PB=13.15  /QB=13.15
4.29 RS IRIR i i #100mH 1h2 13.52
4.29 KBS IR 100mH X ) 2rA 13.28
5.05 ST 72 100mH 3) 6 13.35
5.11 fh 2 fE%Lr&ﬁ% #:100m 1 12. 04
5.11 £ # Ve BSR4 4100m Isl  12.15
5.12 f= # PR RR T #200m 44) 1 24. 80
5.12 {2 1 Vet LR FHE #:200m 1s3  24.81
5.18 i a JUIN ] 42100mH 1 13. 40
5.19 ¥irp pRIE= dFil #100m 20) 2 11.98
[395] A 28K 94. 4.16 (BRACFPEAR 1 0L) PB=13.77  /QB=13.77
2. % #260m 4 i7.63
2. 7260m 3) 1hl  i7.62
4. 4100m s 12.34
4. 72 100mH 12 14.46
4. #200m 60) 1r8  24.91
4. 4100m 5 1 11.77
4. #100m X 1h2  11.79
4. #100m 4h3  12.06
4. 4100m B 12,21
4. 72 100mH 10) 3h3  13.79
4. Z£100mH X ) 1B 13.45
5.04 FL 4100m 1 12.08
5.04 H 72100m 1h10  12.21
5.04 FL 4100m 1s3  12.13
5.04 FL 4:100mH thl  14.27
5.18 # 72100m 2 12.28
5.18 # o ] O A 4100m 1h3  12.39
5.18 #& F ] PO [ A #:100mH 1 14. 14
5.18 & 4 F ] DY [ A #100mH 1hl 14. 00
[464] BiA  EfE 94, 7.12 (FHFR 1 f@Mf) PB=13.76 /QB=13.76
2.02 KPidk A h ALY 2 = 7 5N 460mH 4 i8.96
2.02 KBihk AAY 2 =7 BENKRRS 460mH ) 2h7  i8.95
4.29 JRESIRBE R RS A R 72100mH 4h3  14.90
5.03 FEZOFR i R T 72100mH 3 14. 80
5.03 THZOFR i LR T 7100mH 109) 1hl  14.55
5.18 DA B #100mH 3h1 14. 89
[484] W 93. 6.25 (KBRkE R 2 KBR) PB=13.76  /QB=13.76
4. KA #100mH 1 14. 29
4. 72 100mH 1h2  14.19
4. 4:100mH 10P1  14.34
4. 4:100mH 5h1  14.00
4. #£100mi X ) 3rB 13.73
5. 4:100mH 9 1 13.76
5.09 & J& BAPE A #100mH 1hl 13.87
[516] LM &85 91, 3.24 (LR MIfEH) PB=13.47  /QB=13.47
[521] mbae 91 7.2 (R 4FTIF) PB=13.44  /QB=13.68
4.01 Sk U R FEH 2 (B 1a1) #:200m orl  25.28
4.13 fﬁ?&jc UK 2 (B2l 42100mH 2rl 13.93
5.04 &K VSREELE #100mH 5) Irl 13. 68
5.04 7k 7 TR #100mH 1r2 13.97
5.06 FLK ENioN ks ECIRIE)] #:100m 2 12. 29
5.06 FLK NP ks ECRIE)] #2100mH 1 13.77
5.18 DA B4 4100m 4h1 12. 36
5.18 ST BEHU #100mH 1hl 13. 80
5.18 ST B A #100mH 2s2 13. 74
5.19 DA B4 4100m 69) 5s2 12.18
5.19 ST B #100mH 2 13.74
5.25 f B #:200m 1h3  25.22
5.26 #i B4 4:200m 18) 4 24. 46
5.26 A B #:200m 352 24.94
[522] WA Fifli 93. 8.16 (LR 274k) PB=13.62  /QB=13.62
5.04 &K VSREELE #100mH 42) 6rl 14. 23
5.04 &K KFE R #100mH 612 14. 48
5.18 DA B FAE #100mH 2h2 14. 49
5.18 A B #2100mH 5s1 14. 64
[526] FHBAEET 91 9.30 (LR 47KH) PB=13.34  /QB=13.34
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£ % F AR FHER AR
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5 % F AR FAHEIR AL
£ % F AR FHEIR AR
PEEF AL 92, 3.26 CESN
O IDTA—F =0T = AH
BOR IDTH—T =077 A%
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HeOR FRBE S (1)
[ESIYA HOGERTHE
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#2100mH 1rl 13.48 0.9
4100mH 2) 2hl  13.34 1.1
Z100mH X ) 3rA 13.29 2.4
#2100mH 7 13.48 1.2
4:100m 24) 1 12.02 0.6
#100m 1h2  12.30 -0.3
#2100mH 1h5  14.13 -2.9
42100mH 1s2 13.63 1.0
#2100mH 1 13.45 -2.0
4 ¥71E) PB=13.62  /QB=13.62
#100mH 1r2  13.95 1.4
#2100mH 1h3  14.06 1.7
42100mH 2s1 14.18 -3.9
#2100mH 18) 4 13.91 2.0
418 K) PB=13.55 /QB=13.64
7 EMEBE 1 5.79 0.0
#2100mH 2rl 14.11 2.0
4200m X HEP  24.90 2.2
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